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Question Number : 1 Question Id : 1034351213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the letter-cluster series given below:

CGTM, JNMG, QUHA, XBBU, EIVO
Options :

1. ¥ INMG

2. % QUHA

3. % XBBU

4. ® EIVO



Question Number : 1 Question Id : 1034351213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad S1aR-THg Y&l H TTeld U JTd Hifeie:

CGTM, JINMG, QUHA, XBBU, EIVO
Options :

1. ¥ INMG

2. % QUHA

3. % XBBU

4. % EIVO

Question Number : 2 Question Id : 1034351214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter-cluster series given below:

TYC3, YEH9, 7, IQR21, NWW27
Options :

1. ¥ EKMI15

2. % DLMI15

3. % DKNI5

4. ¥ DKMI5

Question Number : 2 Question Id : 1034351214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad s1eR-THg SRael ¥ I Ug JTd SIfoid:

TYC3, YEH9, 7, IQR21, NWW27
Options :

1. % EKMI15

2. % DLMI15




3. ¥ DKNI5
4. ¥ DKMI15

Question Number : 3 Question Id : 1034351215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find out the odd word from the given alternatives.
Options :

1. % Afghanistan

2. # Denmark

3. ¥ Maldives

4. ¥ Mizoram

Question Number : 3 Question Id : 1034351215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 7Y fdsmedl # O fawH e o1 IHId BY)|
Options :

1. % BT

2. % STHID

3. % HedE

4. ¢ TSI\

Question Number : 4 Question Id : 1034351216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives:

BLX : GR:: HNV :?
Options :
1. ¥ KR
2. % LQ



3. ¥ RK
4. % JS

Question Number : 4 Question Id : 1034351216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T faemedl O 9§ Aafdd 31&R &1 gH1d By
BLX :GR :: HNV :?

Options :

1. ¥ KR

2. % LQ

3. % RK

4, % JS

Question Number : 5 Question Id : 1034351217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ARTIST is coded as YWLVSA then how will FLOWER be coded as?
Options :

1. ¥ WIMFIZ

2. % FMQZIW

3. % QZIWMF

4. ¥ WIZQMF

Question Number : 5 Question Id : 1034351217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i ARTIST BT HE § YWLVSA & Al FLOWER &1 §c &1 g1
Options :

1. ¥ WIMFIZ

2. % FMQZIW



3. % QZIWMF
4. ¥ WIZQMF

Question Number : 6 Question Id : 1034351218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a college of 82 students, Nitin's rank is thirty-fifth from the top. Prashant is ranked eighth above Nitin. What is the Prashant rank from the
bottom?

Options :
1. % 58
2.9 56
3. % 57
4. % 55

Question Number : 6 Question Id : 1034351218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

82 BT & U Hiat §, Ffa w136 SWR § Ueliwat g1 I=iid &t ¥ Ao 9 316d SR 8 | URMd HT ¥ - I 1 82
Options :

1. % 58

2.9 56

3. % 57

4, % 55

Question Number : 7 Question Id : 1034351219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Ankit, Suresh, Dinesh, Raj, Pankaj and Rajat are six members of a club. Each of them has a different profession i.e. A, B, C, D, E and F, each of
them like different color i.e. Yellow, White, Red, Orange, Green and Pink. Person, profession and color given above are not necessarily in the
same order. Dinesh's profession is C and he does not like green colour. The favorite color of E is pink. The one who is in B likes Orange colour.
Raj's profession is F. Suresh's profession is A and he likes white colour. Ankit likes yellow colour. Pankaj's favorite color is orange.

What is Ankit's profession?



Options :
1.¥D
2. % E
3. % F
4. % C

Question Number : 7 Question Id : 1034351219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3iford, IR, &A1=, I, Yoot 3R T0Td U Fa1d & ©: G ¢ | 374 o Udd &1 Udh 3T URN g JUT A, B, C, D, E 3R F, 378 I UIH Bl
SITT-S1QT T U, § T Ui, iha, aTd, A, 81 MR el | SUR 3T 7Y aufdd, U=t 3R 31 sRest et fob St o o R IfeA=r 1 O=m
C B 3R I e T UE TE1 81 E U 9Td T URieieT S Terrell € 1 B U a1 o) AR T Ui § | 7T T U= F & | YR BT UM A § 3R
I e T ude 7| 3ifdrd 1 Uia 31 uie 3| Uhs o eIl S AR g |

ffrd HIU TR 2

Options :

1.¥D

2. % E

3. % F

4. % C

Question Number : 8 Question Id : 1034351220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at
variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:
Some campus are station.
Some stations are cat.

Conclusions:
(I) All campus are station.
(IT) Some station are campus.



Options :

1. % Only I follow

2. % Only II follows

3. % Both I and II follow

4. # Neither I nor II follows

Question Number : 8 Question Id : 1034351220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad gy & @ Hy= e 7w 8 e a1e & fAne 1 9 11 fRT U § 3iueh! 39 Y=l &) I H=H1 8, Ha 81 9 Jagnd awt 9 fie udia
gid 811 fou e feemef & § &1 a1 s 3T 78 2= &1 difches &0 ¥ SIaR0 BT ] |

DHY-:

FS HUY LA 5

F3 T ol ]

feen:

1) I HTT R B

(I) TS W[ HUT g |

Options :

1. # $Had [5HY [ 3IERU Hdl §

2. ¥ Had fHY 11 STIR01 BT &

3. % G fShY [ T 11 SFJAR0T % ©
4. % a1 ey 17 8 e 11 sFERu SR 8

Question Number : 9 Question Id : 1034351221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at
variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:
All painting are artists.
Some artist are famous.



No famous is great.

Conclusions:
(I) Some artist are great.
(IT) Some artist are painting.

Options :

1. % Only I follow

2. % Only II follows

3. % Both I and II follow

4. % Neither I nor II follows

Question Number : 9 Question Id : 1034351221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffead vy & @9 By fau U 8 oM 918 &1 Fshe 19 11 fAT U B SHTUsh! 39 HU1 &1 9 HIFAT 5, Hal 81 d Fasd audl 3 e edld
gid 81| fau U Frm el & 9 31 91 e U 70 o &7 difdhs ©0 § S8R0 $Ral 5 |

DY

gt tfdT FaTER B
PO PATGR URIG & |

ﬁ’s‘uﬁl@:ﬂ%ﬁ:@%l

fsem:

(I) TS HATDHR J-Isl'-l gl

(I $B HABR U1 5|

Options :

1. % had (s [ 3ERU T §

2. ¢ I DY 11 SRV BT §

3. % G FIShY [ T 11 SFJAR0T Rl &

4. % 9 FHY 17 81 Fpy 11 3SR R 8

Question Number : 10 Question Id : 1034351222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Three statements are followed by three conclusions numbered I, II and III. You have to consider these statements to be true, even if they seem to
be at variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:

Some rainbow are rain.
All rain are earth.

All earth are natural.

Conclusions:

(I) Some earth are rain.

(IT) No earth is rain.

(IIT) Atleast some rainbow are earth.

Options :

1. % Only I follow

2. % Only II follows

3. % Only I and III follow

4. % None follows

Question Number : 10 Question Id : 1034351222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad gy & &5 Sy e 7w 8 e a1 9 fAse 111 g 111 faTu 77T § 3muep) 37 SUHl &l I AT 8, YA 8 d Jdwrd a3 fire
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HY:
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Options :

1. % acl Feepy | 3THR BT 2




2. % Had (DY I1 SR Hal §
3. ¢ $Had TSHY [ YT 11 SFIR0T 3 §
4. % IS IR T8I HRAT &

Question Number : 11 Question Id : 1034351223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the set of numbers that is similar to the following set of numbers.

(10, 12, 15)
Options :

1. % (21,23,27)
2. % (30, 32, 36)
3. % (60, 62, 66)
4.+ (68,70, 73)

Question Number : 11 Question Id : 1034351223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I WS THE &1 I8 Piford o FY TReT THg & T g |

(10, 12, 15)
Options :

1. % (21,23,27)
2. % (30, 32, 36)
3. % (60, 62, 66)
4. ¥ (68,70, 73)

Question Number : 12 Question Id : 1034351224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question below, a statement is followed by two conclusions. Study the conclusions and select the correct option as the answer.



Statement:
S>J<F>T=Q

Conclusions:
I.S>F
ILF>Q

Options :

1. # Either I or II follows
2. % Only I follows

3. % Both I and II follow
4. % Only II follows

Question Number : 12 Question Id : 1034351224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR T Uy A, YT P YR W &l sy FpTal 91d € | Feh &7 3188 BY 3R IR & TU H g fadhed &1 797 HI |

HhY:
S>J<F>T=0Q

frp:
I.S>F
I.LF>Q

Options :

1. % I QT | T 1 SIER0T Bl §
2. % Had | ATV BT &

3. % | 3R I G AR R §
4.« HaA 11 STIRV HAT §

Question Number : 13 Question Id : 1034351225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.



2,5,10,17,?,37
Options :

1. % 23

2. % 24

3. % 25

4.9 26

Question Number : 13 Question Id : 1034351225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 uy ¥, faT TU e I i g &1 997 B

2,5,10,17,?,37
Options :

1. % 23

2. % 24

3. % 25

4. 26

Question Number : 14 Question Id : 1034351226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents personal clinic, circle represents doctors, pentagon represents hospital, rectangle represents pharmacy
and square represents social service.

What does letter ‘D’ represents?



Options :

1. # Doctors who work in hospital and personal clinic
2. ® Doctors who have pharmacy and personal clinic
3. % Doctors who have pharmacy and work in hospital

4. ® Doctors who work in hospital and is in social service

Question Number : 14 Question Id : 1034351226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad sma &, Ay folt fdafe &1 ufaffta #rd1 ], 9 Siaex] &1 ufafHfeid SRdT §, GaeIvT SRudrd &1 Uiaffed #rdr g,
3T BT BT Ufafiei BHar g 3R 97 JHTS JdT BT Ui Bl gl

&R D’ forgeT ufafRfa g2




Options :

1. % Slgex Sl T 3R Aol faafie § dH #d 8

2. % ZigeR fSd uTg Bt 3R aafdaTd fdafe §

3. ¢ Sidex [ Ui Wil 8 iR 3rudrd § & $Hd &
4. % ZTaex S AT H HTH Hd g 3R JATS AT H &

Question Number : 15 Question Id : 1034351227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents fresher, circle represents experience, pentagon represents highly qualified, rectangle represents
company and square represents employee.

What does letter ‘I’ represents?




Options :

1. ® Companies which hire employees who are fresher and experienced and highly qualified
2. % Companies which hire employees who are fresher and highly qualified

3. # Companies which hire employees who are experienced and highly qualified

4. ® Companies which hire employees who are fresher and experienced but not highly qualified

Question Number : 15 Question Id : 1034351227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed s &, Ays 3T 1 UG HRl &, T U BT UG BT 8, TIHI01 I gl & WiafTa HRal g,
3T HU BT UG BT § SR aFf HHART DT U1 Bl g

&R 1 fpgepT ufafAfia g2

Options :

1. % Ul S TaRRgST 3R SHdT iR I A HHATRA! Bl HIH W W &

2. ¢ HUT O TARRGST IR I TG HHATR BT HIH TR TG &

3. % UM S STHdT 3R 3= T aTel HHTATRET &1 HTH TR W &

4. % HUTT S VY HHATRAT b1 Fged Bl § ot TaRRgaN 3R vt § afs=T Iz divgar ured =1el &

Question Number : 16 Question Id : 1034351228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the figure that will replace the question mark (?) in the following figure series.
X [ [T ETX
ke | NE | N |

e X

Options :

&
R
y T
ﬁm/
AT

3. % %&S




Question Number : 16 Question Id : 1034351228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TP BT I Dx Sl FaferRaa siipfa g 4 uy g (2) o1 ufcriifid s |

I

Options :

Ji
NI




Question Number : 17 Question Id : 1034351229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one in which the question figure is hidden/embedded.

—

[ ]

Options :




/X

Question Number : 17 Question Id : 1034351229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U faewedl § ¥, I SM1epfa &1 7o 3 5w uy sl srafifed / fd 82

—

—

Options :




2. ¥

/X

Question Number : 18 Question Id : 1034351230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one which is the mirror image of given Question Figure .



= Q\\\&x\\\\\&\\w

-

~

Options :

3. ¢



Question Number : 18 Question Id : 1034351230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fT U fadenl § 9, 39 SHA &1 999 B Sl faU T UY 31 &1 U ufafara g |

=TI =

Options :




3. ¢

Question Number : 19 Question Id : 1034351231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the number of triangle in the given figure.



NN
=~
Options :
1. % 8
2.¥9
3.% 10
4. % 11

Question Number : 19 Question Id : 1034351231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 77E arepfa § By &) T Trd i
N
N
NN
s
Options :
1. %8
2.¥9
3.% 10

4. % 11



Question Number : 20 Question Id : 1034351232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one that will complete the question figure.

Q
S ?

Options :




Question Number : 20 Question Id : 1034351232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U faedl O 9§ 39 fabed &1 AU S Uy 3HThid & R dR|

5
S ?

Options :

1. ¢

2.1.;.



4. %
General Awareness
Group Number : 2
Group Id : 10343563
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Awareness
Section Id : 10343563
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 10343575
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 1034351233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which ruler built the Mughal Gardens of Srinagar?
Options :

1. * Aurangzeb

2. % Akbar

3. % Shahjahan

4. ¥ Jahangir

Question Number : 21 Question Id : 1034351233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R & YTl s BT 01 {5 [ A Hramr U1
Options :

1. % 3RS

2. % 3Ppd

3. % QoI

4. ¥ SERIR

Question Number : 22 Question Id : 1034351234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The famous “Ganga Sagar Mela”, an annual fair is held in which state of India?
Options :



1. # Uttar Pradesh
2. ¥ West Bengal
3. % Madhya Pradesh
4. # Uttarakhand

Question Number : 22 Question Id : 1034351234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RY "I GAR AT, T alitich Hell YR o bl o8 H SIS fobam Sirel g2
Options :

1. % WYY

2. ¢ UfYH ST

3. % O eI

4. ® RIS

Question Number : 23 Question Id : 1034351235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a classical dance form of Assam.

Options :

1. # Lavani

2. % Bhangda

3. ¥ Sattriya

4. ¥ Cheraw

Question Number : 23 Question Id : 1034351235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 P IR T ¢ |

Options :

1. % rauft



2. % YRTET
3. « gfadn
4. % =R

Question Number : 24 Question Id : 1034351236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To which sport does the “hook pass” terminology belong?
Options :

1. * Volleyball

2. # Football

3. # Rugby

4. ¥ Basketball

Question Number : 24 Question Id : 1034351236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“g U TaIaa [y Wd ¥ Tafid g2
Options :

1. % glcildre

2. % Bodld

3. % dl

4.« RSB

Question Number : 25 Question Id : 1034351237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shri Devendra Jhajharia who was Arjun award recipient of 2017 belongs to which game?
Options :

1. ¥ Athletics

2. % Kabaddi



3. # Football
4. % Basketball

Question Number : 25 Question Id : 1034351237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot Tz =i, S 2017 & 3o REBR UTddbd! 2, g Tt & Gaifera 82
Options :

1. ¥ TYdfe

2. % Hagl

3. % Godld

4. % gRBbCIA

Question Number : 26 Question Id : 1034351238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the second highest civilian award conferred for exceptional and distinguished service to an Indian?
Options :

1. # Bharat Ratna

2. # Padma Shri

3. % Padma Vibhushan

4. ¥ Padma Bhushan

Question Number : 26 Question Id : 1034351238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HRA B STYRT 3R fAfRry a1 & e g S are guRt vt AniRe [RIGR I A1 52
Options :

1. ¥ YRAXd

2. % U At

3. ¥ =T fqyuor




4. % T YHOT

Question Number : 27 Question Id : 1034351239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the autobiography of Adolf hitler?
Options :

1. ¥ Mein Kampf

2. % The Nazi

3. # The Nazi Rule

4. # Long Walk To Freedom

Question Number : 27 Question Id : 1034351239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSIt fEeTR B SHTHABYT BT T 14 52
Options :

1. ¥ T $1p

2. % AN

3. % AN EA

4. % Q14D ¢ hied

Question Number : 28 Question Id : 1034351240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who became the first woman to ascend all Seven Summits by climbing the highest peak on every continent?
Options :

1. # Bachendri Pal

2. ¥ Junko Tabei

3. % Malavath Purna

4. % Premlata Agarwal



Question Number : 28 Question Id : 1034351240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UAP HETeU &1 g Sl Al R dgb I+ I1d RARaR) R T¢ arel ugeh Afgen o s+
Options :

1. % g4 g1

2. Il dleg

3. % HIAay oIl

4. % YUl 3UAT

Question Number : 29 Question Id : 1034351241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When does the National Consumer Day observed in India?
Options :

1. # 20th December

2. ¥ 24th December

3. % 25th December

4. # 30th December

Question Number : 29 Question Id : 1034351241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA H PR ST [Ga9 S FARI STl 32
Options :

1. % 20 fd¥sR

2. ¢ 24 f&lR

3. % 25 fadeR

4. % 30 fadaR



Question Number : 30 Question Id : 1034351242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
allots symbols to political parties in India.
Options :
1. # The President
2. % The Party leaders
3. % The Election Commission
4. % The Judiciary

Question Number : 30 Question Id : 1034351242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR B IoAde gl @) Udies sdfed sRar gl
Options :

1. ® rgufa

2. % el & AT

3. ¢ TG SR

4. % IUTfCTeh]

Question Number : 31 Question Id : 1034351243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anodising is a process of forming a thick oxide layer of
Options :

1. % Oxygen

2. % Aluminium

3. # Fluorine

4. % Carbon

Question Number : 31 Question Id : 1034351243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TSR, @l UE el 3Hegs R §9F & ufhar ]
Options :

1. % 3o

2. ¢ TegHit-ag

3. % TRI3RH

4. % PHIa

Question Number : 32 Question Id : 1034351244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Trophic level in an ecosystem represents
Options :

1. # Oxygen levels

2. % Salt level

3. ¥ Energy level

4. ¥ Water level

Question Number : 32 Question Id : 1034351244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRRAUFG T A MBI TR BT UG ST 6
Options :

1. % SIS BT &R

2. % qJHd D[ IR

3. ¢ Sl &R

4, % S ¥R

Question Number : 33 Question Id : 1034351245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In Amoeba, food is digested in a
Options :

1. % Food vacuoles

2. # Mitochondria

3. % Endoplasmic reticulum

4. % Plastid

Question Number : 33 Question Id : 1034351245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e A Hugdigl

Options :

1. ¢ @ RfTD1y

2. ¥ OrEaibiigdl

3. % USIwiore Aepad (3 Ugeud! Siferen)
4. % WIRES

Question Number : 34 Question Id : 1034351246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following state India's first jute mill was established?
Options :

1. ¥ West Bengal

2. % Madhya Pradesh

3. * Himachal Pradesh

4. # Rajasthan

Question Number : 34 Question Id : 1034351246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frefeRad & 4 fog Ieg # YR &1 Ugdl o et Rt &1 718 ot

Options :



1. ¢ Uigy S
2. % YUY
3. % fgur=d uew

4. % VYA

Question Number : 35 Question Id : 1034351247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a Ferrous Mineral?
Options :

1. # Copper

2. % Bauxite

3. % Manganese

4, ® Lead

Question Number : 35 Question Id : 1034351247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PR & § PH-91 1o dig afie 2
Options :

1. ¥ BIWR

2. % dleTse

3. ¢ T

4. % s

Question Number : 36 Question Id : 1034351248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Harappa was situated on the banks of the river
Options :

1. # Indus



2. % Ravi
3. % Sutlej
4. ¥ Brahmaputra

Question Number : 36 Question Id : 1034351248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gsul a1 & de IR Ry o7l
Options :

1. % iy

2. ¢ @t

3. % {ddol

4. % §glqd

Question Number : 37 Question Id : 1034351249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1921, set up the National Fascist Party.
Options :

1. # Hitler

2. % Churchill

3. % Mussolini

4. ¥ Lenin

Question Number : 37 Question Id : 1034351249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1921 ¥, A RS BIRRE U1t ST R &1 |
Options :

1. % fgeer

2. % gfdd



3. « AT
4. % gl

Question Number : 38 Question Id : 1034351250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Renaissance first began in

Options :

1. # Spain

2. ¥ ltaly

3. # Australia

4. * France

Question Number : 38 Question Id : 1034351250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JOITRUT &Y Ugal T YRE g1 T
Options :

1. % U

2. ¥ gt

3. # 3fiReferar

4. % pIg

Question Number : 39 Question Id : 1034351251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which city will host the Durand Cup 2021?
Options :

1. # Dehradun

2. % Indore

3. ¥ Pune



4. « Kolkata

Question Number : 39 Question Id : 1034351251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S8 HY 2021 DI BTG I T UG HU?
Options :

1. % gIgA

2. % &R

3. % gUl

4. & BIADII

Question Number : 40 Question Id : 1034351252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following city has become the first Indian city to achieve 100 per cent COVID-19 vaccination?
Options :

1. # Ahmadabad

2. ¥ Bhubaneswar

3. % Bangalore

4. % Kochi

Question Number : 40 Question Id : 1034351252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIRad & I DI 11 /ER 100 YFIRIT COVID-19 THTHUN UTed H=- aTdll Ugal YR [ &4 17 62
Options :

1. ¥ 3fgHaldlq

2. ¢ IR

3. % §TAR

4. % Difd
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Question Number : 41 Question Id : 1034351253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If (p — q) = 8, then what is the value of q° - p> + 24pq?
Options :



1. #® 729
2. % 512
3. ¥ 512
4. % 343

Question Number : 41 Question Id : 1034351253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gid (p—q) = 8 8, 1 71 J1d BN Q- p> + 24pq?
Options :

1. % 729

2. % 512

3.9% 512

4. % 343

Question Number : 42 Question Id : 1034351254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

1 3 ik 1
@3-t al)
2 1 4 2

Options :



Question Number : 42 Question Id : 1034351254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgferfad uy o uearee g (2) & R IR 31 HH ST

1 3 ik 1
@3-t al)
2 1 4 2

Options :

Question Number : 43 Question Id : 1034351255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

(6)3 +(2)3 +3(6 x2) 8= 2

Options :
1. % 300
2. % 272
3. % 200
4.9 512

Question Number : 43 Question Id : 1034351255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafaRad us # usaras o (2) & R IR &1 711 ST

6>+ (2P +3(6x2)8=2

Options :
1. % 300
2. % 272
3. % 200
4. ¥ 512

Question Number : 44 Question Id : 1034351256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fP=283"and Q=2%x 3°, thenHCF of P and Q is:

Options :

';3(,,5
1.¢ ~ .



5 % 235 3

3.0 % 29 %37

4. % 24x 35

Question Number : 44 Question Id : 1034351256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
afgp =25x 37 3T Q = 2% 3%, ATP AT QFT AgadA BAUGIF &

Options :

Question Number : 45 Question Id : 1034351257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a company, there are 80 workers. The ratio of male workers to female workers is 9 : 7. The average salary of all workers is Rs.20000. If the
average salary of male workers is Rs.2000 less than that of the female workers, then what is the average salary of male workers?

Options :



1. ¥ Rs.19125
2. ® Rs.18775
3. ¥ Rs.18980
4. % Rs.18500

Question Number : 45 Question Id : 1034351257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HUAT H 80 FHART § | T3 HHARY BT AfGAT HHART F 3UIA 9 : 7 8 | GHt HHART o7 37d dd- 20000 ¥ 81 AfS TS HHART B
3T aa- AR HHART DI a1 H 2000 ¥UY FHH g, Al GO HHAR! BT 319d do- o1 g2

Options :

1. ¥ 19125 300
2. % 18775300
3. % 18980 ¥UY
4. % 18500 3T

Question Number : 46 Question Id : 1034351258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Venu saves 25 percent of his income. If his income increases by 25 percent and still he saves the same amount as before, the percentage increase
in his expenditure is

Options :

1. # 30 percent

2. % 25 percent

3. ¥ 33.33 percent
4. % 26 percent

Question Number : 46 Question Id : 1034351258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QU (T 3T & 25 UFARId &1 Fad Bl o | Al ITD! AT | 25 IR B gfG BIcht 8 3R bR +t 98 uga & To A &t F9rd HRaT e,
0l 9P g § ufaRid afs gl



Options :

1. % 30 yfard

2. % 25 gfard

3. ¢ 33.33 gfa=rd
4. % 26 gfaerd

Question Number : 47 Question Id : 1034351259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of n numbers is 42. If 75 percent of the numbers are increased by 4 each and the remaining numbers are decreased by 8 each, then
what is the average of the numbers, so obtained?

Options :
1. % 438
2. % 44
3.% 425
4,9 43

Question Number : 47 Question Id : 1034351259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

n TREA37 BT 3 42 71 Tl 75 Ufrd Temsit & & Uds H 4 B gfG &1 o1l § 3R A TeAaf H 9 Ul & 8 Bt HH! I Sl €, dl 39
RE VI A3 B Sfied o1 g

Options :

1. * 438

2. % 44

3. % 425

4.9 43

Question Number : 48 Question Id : 1034351260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The selling price of 40 products is same as the cost price of ‘x’ products. Find the value of ‘x’ if the profit earned is 25 percent by selling x



articles.
Options :
1. % 45
2.¥ 50
3. % 60
4. % 175

Question Number : 48 Question Id : 1034351260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

40 G BT faha G x> TGS & 6T Jod & SRR g | *x” BT A J1d B Ale x TG DI 97 WR 3ifold foran @ 25 ufa=a & |
Options :

1. % 45

2.9 50

3. % 60

4. % 75

Question Number : 49 Question Id : 1034351261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An item of marked price Rs.80 was sold in Rs.68. What is the rate of discount?
Options :

1. ® 14 percent

2. % 15 percent

3. # 85 percent

4. % 86 percent

Question Number : 49 Question Id : 1034351261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
80 U, 3ifhd He B U I, 68 TUI T 9l T3 | & DI a2 T 82

Options :



1. % 14 gfawd
2. ¢ 15 Ufa=id
3. % g5 yfaerd
4. % 86 Ufa=Id

Question Number : 50 Question Id : 1034351262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an examination, out of 100 students 80 percent of the girls and 70 percent of the boys passed. How many boys appeared in the examination if
total pass percentage was 75 percent?

Options :
1. % 70
2. % 40
3. %20
4.9 50

Question Number : 50 Question Id : 1034351262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TRiem H 100 fageranidal & & 8o ufara asfmat 3R 70 Ufawd dge U U1 IS ot Ird Uid=Id 75 Ufa=ra of, o oie & YT oA ardt
Asd| ot I fopanr o

Options :

1. % 70

2. % 40

3. %20

4, ¥ 50

Question Number : 51 Question Id : 1034351263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P and Q started a business with investment of Rs.2400 and Rs.3600 respectively. If at the end of 3 years Q withdraws Rs.1800, then what is the
ratio of profit share of P to Q at the end of 5 year?



Options :
1.9 5:
2. % 5
3. % 3.
4. % 7

NoRERV, RN Be N

Question Number : 51 Question Id : 1034351263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P 3R Q 7 THHTT: 2400 ¥ 3R 3600 $UT & AN | Th qU Y& fohan| afe 3 T o 3fd H Q 7 1800 IUY Feb1a ferw g1, df 5 awi & 3fd
T p 3R Q & ATH IR & 3UTd T I 2

Options :

1.¥5:6
2.% 5:7
3.%3:5
4. % 7:9

Question Number : 52 Question Id : 1034351264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The simple interest accrued on an amount of Rs. 2,800 at the end of six years is Rs. 2100. What would be the simple interest accrued on an
amount of Rs 6875 at the same rate and same period?

Options :

1. % Rs.4,556.5
2. % Rs. 5,025.25
3. % Rs.4,895.25
4. ¥ Rs.5,156.25

Question Number : 52 Question Id : 1034351264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2,800 TUT BT 6 I8 & 3fd H Ud FIYRU AT 2100 TUT g 1 I 2R 3R S JHATIRTA | 6875 TUT UR JTYRUT TSl T T2




Options :

1. % 4,556.5%0U0
2. % 50252507
3. % 4,895.25 0T
4, ¥ 5,156.25%7U7

Question Number : 53 Question Id : 1034351265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train moving with speed of 81 km/hr crosses a pole and platform in 8 seconds and 22 seconds, respectively. Find the length of the platform.
Options :

1. ¥ 315 meters

2. % 400 meters

3. # 495 meters

4. % 460 meters

Question Number : 53 Question Id : 1034351265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

81 foptfi/der o1 1fa ¥ Ied §U TP ¢ U T 3R WehH &1 HH: 8§ Yodhs 3R 22 Ydhs T UR o Tohdl o | WEHTH &I TiaTs J1d
Hiforg|

Options :

1. ¥ 315 Wi
2. % 400 W
3. % 495 HIex
4. % 460 WX

Question Number : 54 Question Id : 1034351266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The speed of a car is 2 times the speed of a passenger train. If the car travels at the speed of 85 kmph, what will be the difference in the time
taken by the passenger train and the time taken by the car to cover 935 km.?



Options :

1. * 5 hours
2. % 11 hours
3. # 22 hours

4. * 8 hours

Question Number : 54 Question Id : 1034351266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HR P17, T UAOR ¢ &1 T1fd &1 2 T g1 TS R 85 foodt Ui 9 &1 71 I A Sl § <Y 935 foort gt a0 & & 99 IR BR
GRT T T4 9 & o9 BT 3feR fava 62

Options :
1. % 59c
2. ¢ 11°C
3. % 20e
4. % g4e

Question Number : 55 Question Id : 1034351267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pipe A can fill an empty tank in 12 hours and pipe B can empty the same full tank in 10 hours. If pipe A is halved open and pipe B is one-third
open, then in how many hours does the empty tank get filled while pipe A and B working simultaneously?

Options :
1. ® 90
2.9 120
3. % 60
4. % 80

Question Number : 55 Question Id : 1034351267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UISY A T TTell &b bl 12 B H WR JohdT g 3R UISY B T R ¢ BT 10 U & Wl B TbdT g | TS UIST A I 31T Wi fa Siran g



3R UTSU B U [IgTs AT 6T & dUT UIST A 3R UISY B Udh 1Y HTH B dl Wil ¢ foba g H HR SITEm
Options :
1. % 90
2.v 120
3. % 60
4. % 80

Question Number : 56 Question Id : 1034351268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 men can do a piece of work in 10 days while 9 women can do the same work in 20 days. If 3 men start working and work for 'T' days and after
that 3 women joined them and together they take 6 more days to finish the remaining work, then what is the value of "T'?

Options :
1. ¥ 30
2. % 25
3. % 20
4. % 15

Question Number : 56 Question Id : 1034351268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 Y 10 {1 T TP HTH R Tdhd § Sidid 9 Aigand 20 &A1 H THH &1 &R It ¢ | 3G 3 T8 T Al & o7 S8 &1 & a3 o
3R 3P T 3 ARTAT I 1Y WA Bl § 3R A B B R A T I8 6 3R feA T €, Ot ' 1 7 fban 82

Options :

1. ¢ 30

2. % 25

3. % 20

4. % 15

Question Number : 57 Question Id : 1034351269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A parallelogram has sides in the ratio 3 : 4. The length of altitude on larger side is 20 cm. Find the length of altitude on smaller side.
Options :

60
— Ccm
3

4. %

Question Number : 57 Question Id : 1034351269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP JHMIR TGS B YoT3T BT U 3 : 4 | Al Yol R IMocid &1 daTs 20 JH g1 SIS Yol IR feicia 3t dars J1d B
Options :

1. %

70 sty

2. % 3

Eﬂ:ﬁ?ﬂ'
E]

3.¢

% st

4. % 3



Question Number : 58 Question Id : 1034351270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The radius and height of a right circular cone are in ratio of 5 : 12 and its volume is 2512 cu cm. The radius of the cone is :( w = 3.14)
Options :

1. ® 24 cm

2. % 20 cm

3.9 10 cm

4. % 15cm

Question Number : 58 Question Id : 1034351270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS P &I AT 3R GaATs 5 : 12 P AT | § 3R TP A 2512 G I | | T &1 a1 8: (n=3.14)
Options :

1. % 249wt

2. % 20 I

3. 10 QAT

4. % 1590l

Question Number : 59 Question Id : 1034351271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following table shows the total number of votes polled and percentage of invalid votes for a village.



Year Total votes Invalid votes
1980 6500 5%
1985 2000 T%
1990 0200 10%
1995 10400 12%

What is the number of valid votes polled in 1985?
Options :
1. #® 5600
2.9 7440
3. % 6425
4. % 7140

Question Number : 59 Question Id : 1034351271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 qrfereT & U g & HdeM § fobT U AIeT ) ST 3R 31 dicl & Ufd=id B g T g

I | Ferare |FIyaERE
1980 6500 5%
1985 8000 7%
1990 0200 10%
1995 10400 12%
1985 H e & foru 3y w7al &t T farat 82
Options :
1. % 5600
2. ¥ 7440
3. % 6425

4. % 7140



Question Number : 60 Question Id : 1034351272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following line graph represents percentage wise breakup of males, females and children out of the respective total number of people in five
colonies A, B, C, D and E.

a1
=5 . 40
/—N / 34
32 : \
R '
29 28
20
—4—Males —l—Females —— Children
A B C D E

If the number of females in colony B exceeds the number of children in colony C by 112 and the total number of males in both the colonies is
1400, then find the total number of people in C.

Options :
1. ¥ 1600
2. % 2100
3. % 1800
4. % 1900

Question Number : 60 Question Id : 1034351272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



9 a1 U1 Ui Hidial A, B, C, D SR E & $d ATl & S § ¥ g3, Afgarsii 3R a=di o UiaRidaR faavur & gifar g

/N g __40/_/ 39
32 : :
33 .'—-—————____.________ 35 35
70 p 30
28 24
L 20

@y SR oA

g BiaT B H Afgaisll & W, Hia-l ¢ & Tl & GBI 112 3HfAF § 3R a1 drai-a) 5 T8 &I Hol YA 1400 &, a1 Hia-T ¢ &
AT DT Pt H=AT AT Difod |

Options :

1. ¥ 1600

2. % 2100

3. % 1800

4. % 1900
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Question Number : 61 Question Id : 1034351273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

The approach has resulted in a range of false solutions that offers an illusion of action but have little impact in reality.
Options :

1. #* The approach has resulted in a range of

2. % false solutions that offers an illusion

3. # of action but have little impact in reality

4. # No error

Question Number : 61 Question Id : 1034351273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

The approach has resulted in a range of false solutions that offers an illusion of action but have little impact in reality.
Options :

1. # The approach has resulted in a range of

2. ¥ false solutions that offers an illusion

3. ® of action but have little impact in reality

4. ® No error

Question Number : 62 Question Id : 1034351274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

The document is silent on the exact science of prioritising actions, especially when all sources of pollution demand intervention at the same time.
Options :

1. #® The document is silent on the exact science of prioritising

2. ® actions, especially when all sources

3. # of pollution demand intervention at the same time

4. ¥ No error

Question Number : 62 Question Id : 1034351274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

The document is silent on the exact science of prioritising actions, especially when all sources of pollution demand intervention at the same time.
Options :

1. # The document is silent on the exact science of prioritising

2. # actions, especially when all sources

3. # of pollution demand intervention at the same time



4. % No error

Question Number : 63 Question Id : 1034351275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

The weather reports is prepared by the Meteorological Department of the Government.
Options :

1. % are prepared

2. # is prepare

3. ® prepared

4. % No improvement

Question Number : 63 Question Id : 1034351275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

The weather reports is prepared by the Meteorological Department of the Government.
Options :

1. ¥ are prepared

2. # is prepare

3. % prepared

4. ¥ No improvement

Question Number : 64 Question Id : 1034351276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given sentence. If there is no need to substitute it, select ‘No
improvement’.



The fundamental rights granted to us by our Constitution cannot be (encroached by) any person or group of persons.
Options :

1. # encroached into by

2. # encroached with

3. ¥ encroached upon by

4. ¥ No Improvement

Question Number : 64 Question Id : 1034351276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

The fundamental rights granted to us by our Constitution cannot be (encroached by) any person or group of persons.
Options :

1. # encroached into by

2. # encroached with

3. % encroached upon by

4. % No Improvement

Question Number : 65 Question Id : 1034351277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The bear didn’t attack the lady because he was afraid her.
Options :

1. ¥ of

2. % at

3. % as

4. % for



Question Number : 65 Question Id : 1034351277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The bear didn’t attack the lady because he was afraid her.
Options :

1. ¥ of

2. % at

3. % as

4. * for

Question Number : 66 Question Id : 1034351278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

One needs to know the difference watercolour and acrylic paints before starting to paint.

Options :

1. * from

2. % in

3. ¥ between

4. * among

Question Number : 66 Question Id : 1034351278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

One needs to know the difference watercolour and acrylic paints before starting to paint.
Options :
1. # from

2. % In



3. ¥ between

4. # among

Question Number : 67 Question Id : 1034351279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

No need to cry over milk. It is time you got up and go about your usual routine.
Options :

1. % spill

2. % gpilt

3. % gpilling

4. % slipped

Question Number : 67 Question Id : 1034351279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

No need to cry over milk. It is time you got up and go about your usual routine.
Options :

1. % spill

2. % gpilt

3. % gpilling

4. # glipped

Question Number : 68 Question Id : 1034351280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, there are six sentences marked S1, S6, P, Q, R, and S. The positions of S1 and S6 are fixed. You are required to choose
one of the four alternatives which would be the most logical sequence of the sentence in the passage.



S1. Can anyone

P. falsehood triumph
Q. and let

R. for a long time

S. suppress the truth
S6. permanently?

Options :

1. # RQSP
2. % QPRS
3. ¥ SRQP
4. % PRQS

Question Number : 68 Question Id : 1034351280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, there are six sentences marked S1, S6, P, Q, R, and S. The positions of S1 and S6 are fixed. You are required to choose
one of the four alternatives which would be the most logical sequence of the sentence in the passage.

S1. Can anyone

P. falsehood triumph
Q. and let

R. for a long time

S. suppress the truth
S6. permanently?

Options :

1. # RQSP
2. % QPRS
3. ¥ SRQP
4. % PRQS

Question Number : 69 Question Id : 1034351281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym for the given word.



Narcissism
Options :

1. ¥ Humility
2. # Modesty
3. % Arrogance
4. # Insanity

Question Number : 69 Question Id : 1034351281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym for the given word.

Narcissism
Options :

1. % Humility
2. # Modesty
3. % Arrogance
4. # Insanity

Question Number : 70 Question Id : 1034351282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym for the given word.

Comprehensive
Options :

1. # Apprehensive
2. % Shallow

3. % Apprehension
4. # Suburbia

Question Number : 70 Question Id : 1034351282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym for the given word.

Comprehensive
Options :

1. % Apprehensive
2. ¥ Shallow

3. % Apprehension
4. # Suburbia

Question Number : 71 Question Id : 1034351283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. ¥ Blotched

2. % Essences

3. % Syllabus

4. % Semmantic

Question Number : 71 Question Id : 1034351283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. # Blotched

2. % Essences

3. % Syllabus

4. % Semmantic

Question Number : 72 Question Id : 1034351284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the CORRECTLY spelt word.
Options :

1. # Ferociuos

2. # Farocious

3. % Ferocious

4. % Feroecious

Question Number : 72 Question Id : 1034351284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the CORRECTLY spelt word.
Options :

1. # Ferociuos

2. # Farocious

3. % Ferocious

4. % Feroecious

Question Number : 73 Question Id : 1034351285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

Hold the fort.

Options :

1. # To avoid being found guilty of a crime.

2. % To maintain or guard something temporarily
3. # To stop talking about something

4. # To finish something before time

Question Number : 73 Question Id : 1034351285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

Hold the fort.

Options :

1. #® To avoid being found guilty of a crime.

2. % To maintain or guard something temporarily
3. # To stop talking about something

4. ® To finish something before time

Question Number : 74 Question Id : 1034351286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

Tricks of the trade.

Options :

1. % A trick to deceive

2. ¥ Special skills or knowledge
3. # A particular profession

4. ® An easy task

Question Number : 74 Question Id : 1034351286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

Tricks of the trade.

Options :

1. # A trick to deceive

2. ¥ Special skills or knowledge
3. % A particular profession

4. % An easy task



Question Number : 75 Question Id : 1034351287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the following group of the words.

Lack of skill, ability, or competence.
Options :

1. ¥ Ineptitude

2. % Dexterity

3. * Proficiency

4. % Prowess

Question Number : 75 Question Id : 1034351287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the following group of the words.

Lack of skill, ability, or competence.
Options :

1. ¥ Ineptitude

2. % Dexterity

3. * Proficiency

4. % Prowess

Sub-Section Number : 2
Sub-Section Id : 10343578
Question Shuffling Allowed : Yes

Question Id : 1034351288 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

The Mexican drug war is the Mexican theater of the global war on drugs, as led by the U.S. federal government that has resulted in an ongoing



asymmetric low-intensity conflict between the Mexican government and various drug trafficking syndicates. When the Mexican military began to
intervene in 2006, the government's principal goal was to reduce drug-related violence. The Mexican government has asserted that their primary
focus is on dismantling the powerful drug cartels, and on preventing drug trafficking demand along with the U.S. functionaries. Violence
escalated soon after the arrest of Miguel Angel Félix Gallardo in 1989; he was the leader and the founder of the first Mexican drug cartel, the
Guadalajara Cartel, an alliance of the current existing cartels (which included the Sinaloa Cartel, the Juarez Cartel, the Tijuana Cartel, and the
Sonora Cartel).

Due to his arrest, the alliance broke and certain high-ranking members formed their own cartels and each of them fought for control of territory
and trafficking routes. Although Mexican drug trafficking organizations have existed for several decades, their influence increased after the
demise of the Colombian Cali and Medellin cartels in the 1990s. Mexican drug cartels now dominate the wholesale illicit drug market and in
2007 controlled 90% of the cocaine entering the United States. Arrests of key cartel leaders, particularly in the Tijuana and Gulf cartels, have led
to increasing drug violence as cartels fight for control of the trafficking routes into the United States. The U.S. Congress passed legislation in late
June 2008 to provide Mexico with US$1.6 billion for the Mérida Initiative as well as technical advice to strengthen the national justice systems.
During the 1970s and early 1980s, Colombia's Pablo Escobar was the main exporter of cocaine and dealt with organized criminal networks all
over the world. While Escobar's Medellin Cartel and the Cali Cartel would manufacture the products, Miguel Angel Félix Gallardo's Guadalajara
Cartel would oversee distribution.

Sub questions

Question Number : 76 Question Id : 1034351289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following drug cartels is not a Mexican drug cartel?
Options :

1. # Juarez Cartel

2. % Sonora Cartel

3. # Tijuana Cartel

4. ¥ Medellin cartel

Question Number : 77 Question Id : 1034351290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the main reason behind the increasing influence of the Mexican drug trafficking organizations?
Options :

1. # The U.S. policies regarding drug control in Mexico were held back.

2. % The U.S. cartels were shut down by the government.

3. ¥ Mexican drug organizations were very powerful compare to any of other cartels.



4. ¥ The demise of the Colombian cartels.

Question Number : 78 Question Id : 1034351291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Miguel Angel Félix Gallardo was the chief leader and the founder of the first Mexican drug cartel. According to the given passage, which among
the followings was the first Mexican drug cartel?

Options :

1. # Juarez Cartel

2. ¥ Guadalajara Cartel
3. # Sinaloa Cartel

4. # Tijuana Cartel

Question Number : 79 Question Id : 1034351292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Violence erupted in Mexico after the arrest of key leaders of two cartels. Which two cartels are being talked about in this case?
Options :

1. ¥ Tijuana and Gulf cartels

2. % Sonora and Gulf cartels

3. # Tijuana and Sonora cartels

4. ® Sinaloa and Sonora cartels

Question Number : 80 Question Id : 1034351293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct here according to the given passage?

Options :

1. # The U.S. Congress passed legislation to provide Mexico with technical advice to strengthen the national justice systems.
2. ¥ Mexican drug cartels now dominate the country’s government.

3. # The U.S. Congress passed legislation to provide Mexico with financial aid.

4. % Mexican drug trafficking organizations have existed for several decades.



Question Id : 1034351288 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

The Mexican drug war is the Mexican theater of the global war on drugs, as led by the U.S. federal government that has resulted in an ongoing
asymmetric low-intensity conflict between the Mexican government and various drug trafficking syndicates. When the Mexican military began to
intervene in 2006, the government's principal goal was to reduce drug-related violence. The Mexican government has asserted that their primary
focus is on dismantling the powerful drug cartels, and on preventing drug trafficking demand along with the U.S. functionaries. Violence
escalated soon after the arrest of Miguel Angel Félix Gallardo in 1989; he was the leader and the founder of the first Mexican drug cartel, the
Guadalajara Cartel, an alliance of the current existing cartels (which included the Sinaloa Cartel, the Juarez Cartel, the Tijuana Cartel, and the
Sonora Cartel).

Due to his arrest, the alliance broke and certain high-ranking members formed their own cartels and each of them fought for control of territory
and trafficking routes. Although Mexican drug trafficking organizations have existed for several decades, their influence increased after the
demise of the Colombian Cali and Medellin cartels in the 1990s. Mexican drug cartels now dominate the wholesale illicit drug market and in
2007 controlled 90% of the cocaine entering the United States. Arrests of key cartel leaders, particularly in the Tijuana and Gulf cartels, have led
to increasing drug violence as cartels fight for control of the trafficking routes into the United States. The U.S. Congress passed legislation in late
June 2008 to provide Mexico with US$1.6 billion for the Mérida Initiative as well as technical advice to strengthen the national justice systems.
During the 1970s and early 1980s, Colombia's Pablo Escobar was the main exporter of cocaine and dealt with organized criminal networks all
over the world. While Escobar's Medellin Cartel and the Cali Cartel would manufacture the products, Miguel Angel Félix Gallardo's Guadalajara
Cartel would oversee distribution.

Sub questions

Question Number : 76 Question Id : 1034351289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following drug cartels is not a Mexican drug cartel?
Options :

1. #* Juarez Cartel

2. * Sonora Cartel

3. * Tijuana Cartel

4. ¥ Medellin cartel

Question Number : 77 Question Id : 1034351290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What was the main reason behind the increasing influence of the Mexican drug trafficking organizations?
Options :

1. # The U.S. policies regarding drug control in Mexico were held back.

2. % The U.S. cartels were shut down by the government.

3. # Mexican drug organizations were very powerful compare to any of other cartels.

4. ¥ The demise of the Colombian cartels.

Question Number : 78 Question Id : 1034351291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Miguel Angel Félix Gallardo was the chief leader and the founder of the first Mexican drug cartel. According to the given passage, which among
the followings was the first Mexican drug cartel?

Options :

1. #® Juarez Cartel

2. ¥ Guadalajara Cartel
3. # Sinaloa Cartel

4. ® Tijuana Cartel

Question Number : 79 Question Id : 1034351292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Violence erupted in Mexico after the arrest of key leaders of two cartels. Which two cartels are being talked about in this case?
Options :

1. ¥ Tijuana and Gulf cartels

2. % Sonora and Gulf cartels

3. # Tijuana and Sonora cartels

4. % Sinaloa and Sonora cartels

Question Number : 80 Question Id : 1034351293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is NOT correct here according to the given passage?
Options :



1. # The U.S. Congress passed legislation to provide Mexico with technical advice to strengthen the national justice systems.
2. % Mexican drug cartels now dominate the country’s government.
3. % The U.S. Congress passed legislation to provide Mexico with financial aid.

4. ¥ Mexican drug trafficking organizations have existed for several decades.
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Question Number : 81 Question Id : 1034351294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hidpdda

2. % AETHY

3.« qArIg

4. % Tyl

Question Number : 81 Question Id : 1034351294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & @ H1H-91 Weg FHYRY THY BT I&T6R0T To1 52
Options :

1. # fcIhHd

2. % ARYSY

3. ¥ JdlUg

4. % gl

Question Number : 82 Question Id : 1034351295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefoRed & § et &1 98! daad Xse HIH-I1 ]2
Options :

1. % §gMd

2. ¥ d[d4

3. ®# Joaik

4. % i

Question Number : 82 Question Id : 1034351295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frefoRed & § et &1 98! daad Sse HIH-I1 ]2
Options :

1. % §OFd

2. ¥ d[d4

3. # doaik

4. % i

Question Number : 83 Question Id : 1034351296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAAfaRed 7 9 rawieR, diareR Weg SIH-3 Ve dgdld 82
Options :

1. ¥ UNRSE Uec;

2. % ¥q Vg

3. % i Ueg

4. % Qi U9 IR~ Ueq

Question Number : 83 Question Id : 1034351296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ GTRSE Tsg
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Question Number : 84 Question Id : 1034351297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 84 Question Id : 1034351297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 85 Question Id : 1034351298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # Hg

2. % A

3. % d941

4. ¥ o

Question Number : 85 Question Id : 1034351298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % Hg

2. % A
3. % d9d1
4. ¢ Q¥

Question Number : 86 Question Id : 1034351299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® fogH

2. « ROl

3. % 3Dl
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Question Number : 86 Question Id : 1034351299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. * fogm

2.« ROl

3. % 3ol

4. % gufd

Question Number : 87 Question Id : 1034351300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. ¥ TG
2. % gt
3. % RTM
4. % U

Question Number : 87 Question Id : 1034351300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ HYlg

2. % TRl

3. % RFR

4. % YA
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Correct Marks : 1 Wrong Marks : 0.25
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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g - gt

Options :

1. % JHLGR - AHY
2. % s - fmT

3. ¢ TR - JHAGR
4. % I - JHLGR

Question Number : 89 Question Id : 1034351302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
fmforiRad # ¥ 3R[G ad! aTdt aTed BT 99 Pifore-
Options :

1. % Y A T HIuTd o IR Afdd i |

2. % T §gd URH R Y9 HHRT G|

3. % 3ffey = 39 T P Yrax fo07 fova|

4. Ufed A § Stufawary 78l g

Question Number : 89 Question Id : 1034351302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed o § 3RS ad arel aTdd &1 99 Biford-
Options :

1. % Y T T U & IR Afad Ht |

2. % T 9gd U axd o= HAT G|

3. % 3ffay = 39 T P Y o0 fova|

4. ¢ Ufda QAT | Stufa<ary gl 8|

Question Number : 90 Question Id : 1034351303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fEfoRed A O ddgarae arad &1 I+ HIfole-
Options :

1. % gfe quf g ol ad ot 3rat gt |

2. v BY1 3F ST ¥ O Ugd gd! gl |

3. % S ORYH ST 91 I%d 8|

4. % MY Siq H ggd I~ B |

Question Number : 90 Question Id : 1034351303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAfaRad o ¥ Jdgarad areg &1 99 Hifo-
Options :

1. % gfe gul grf d waa o srest gt

2. ¢ BY1 39 BIATeY ¥ TR Ugd geb! gIl |

3. % S URYY BT al I%hd gl |

4. % MU Sfigq ¥ dgd I-id B |

Question Number : 91 Question Id : 1034351304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfaRad 7 9 39 9 &1 994 i, fSrae 3uTeM R ! faufad &1 uanT far mar g2

Options :

1. % U Caqd R g

2. % IRY 7§84 & o e wiidh
3.« T gui o ¥ St Saar g
4. % RRyefep A faemelf &1 geman|

Question Number : 91 Question Id : 1034351304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fAAfaRed 7 9 39 areg &1 T4 i, fSorgd 3uTeM R &1 faufad &1 uanT fear mar g2

Options :

1. % J%® ¢ W g

2. % RY 7§89 & fore fem Wit
3. ¢ Hani ot 9 siygfarfy Fear g
4. % Rrerp 3 fommdl &1 gam|

Question Number : 92 Question Id : 1034351305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fmferiRad # ¥ g dc-1 aTel 9T &1 99 BIToT-
Options :

1. ¢ dTeHId = IHI BT [T DT |

2. % A B YD1 BT FRIHR01 g1 ST AT
3. % TUST 7 IR W TR H fam|

4. % Y P Plcol H HIAY $I fagm < ot g

Question Number : 92 Question Id : 1034351305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fRed o ¥ < ac-T aTdt a1 99 BHiforg-
Options :

1. ¢ dTeHifch = TATUN B - Bl |

2. % ARE B Y137 BT HRIHR01 g1 ST AT
3. % TUST A IR W TR Hx fea|

4. % 3TV & BIcel H Sy o e & St ]

Question Number : 93 Question Id : 1034351306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



feferRad & T ggTarT AT A Sty = @ &1 T 31 g2
Options :

1. % foodft TR et 9 difsa gl

2. % HYDPR STHHT|

3. % Trd-Herd dRAl

4. ¢ Sidd B

Question Number : 93 Question Id : 1034351306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed o & GemaRT AT & SiH T T &1 ot 31 g2

Options :

1. % gt iR a3 difsa gl
2. % HYDHR STHMT|

3. % TTA-HeId HRAT|

4. ¥ Sidd &1

Question Number : 94 Question Id : 1034351307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=ferfad 3 T Aieifad "gHe & UTd IR g8 UaT o1 or 31 g2
Options :

1. % 3foiiad e foer ¥ =1 9 ge|

2. % 99 Yid™ T o1 g |

3. « A T1eAT @ §ST B B BT UG HAT

4. % T g1 9% b 3fIch 3|

Question Number : 94 Question Id : 1034351307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR 7 § deifad "gHel & uTd IR gus UaAT &1 & 37 g2




Options :

1. % 3froiia b et 9 U1 9 ge|

2. % 99 Hioss § a1 g

3.  Tffd T1eET @ 98T B B BT YA HAT
4. % TdH gl 9% b 3D ATHie |

Question Number : 95 Question Id : 1034351308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=fafed o 9 forg area o sreafarm fomg &1 wahT =gt fosan man g2

Options :

1. % 3fd T 3o 3R Bl BT W01 g o, THI 1 G G@HR IR AT &1 38 T

2. ¢ 3o A e B §RI-HAT Bl oY I fddt DT AR Habd T4

3. % IUP! qIe] 9gd MR §, A1 § 99 &l fod &t AgHH ]

4. % TSI ¥ UBH S UTed &I gedt A, a=ai H TeTs 81 718, <l 3 &Idl Sl # s @t

Question Number : 95 Question Id : 1034351308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffafaa & T foog are & sreufa feg 1w =18t fopar g2

Options :

1. % 3 H 3 3R Bl BT 1007 G G, THI DT I oD AR AT &1 38 Y|

2. ¥ 3O A YA P RI-YAT Hgl o 9P fad &1 AR Havd |

3. % IYP! G4 9gd SR §, TIAT 8 §9 &l fod &1 AgHH B

4. % TSR Y Ugd S UTed &1 ged off, sl § TSt 81 TS, df 3fd aId il § deq @ |

Sub-Section Number : 2
Sub-Section Id : 10343580
Question Shuffling Allowed : Yes

Question Id : 1034351309 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No



Question Numbers : (96 to 100)

TR eI T AT YdD SE HR YA & IR alford-

HT4-STa & STTeHhTd H SR B Bls Adhed ol At 3R A7 31151 &1 Hifd F-98 TR ATIS4 g1 | A4 SiTd | 84T o, St
TS IUH! UG aTelt Helad I9b Sl R Yuid: afkard gidt off, aafad o fareit +ft fam &1 e a1 fordlt TR & dclad! o1 alfid el o,
fhd 3T Tadd 3R FRG 8d T Ht AT U= 718} UT| STURf eah1d Bid &, SMfeRI-wael & Tay giar T 3R fFodl & B 39 Ward!
2t R-<R ITpT ot € Sraxgemarsit Bt gfdf & forg quTet 3iR IT0 o1 Igd 3R AT g3l 3uA 3=y &t Rif S vd siaxgamdrsii &t
gfd & fore Oa A ofda: $© g &1 A [T 399 9 56 Fod! & ura axaM &1 YR Iod B 3R $B &1 HIGR THS &1 ¢
fear a1 safea & Sgad! faer & UeTad 811 a1d 3 ! o1 UTe 8 SR Sedrdl ¢ | 3Hd Yo 981 & gidr 8 | TS o
TRY H 3 Ml I € S & 3 T o1 R, [ Rid fora 3ik gogafyd fesan g

Sub questions

Question Number : 96 Question Id : 1034351310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suded T o7 Ifrd 2 = & § SH-a1 82
Options :

1. ¢ SR B GehedH |

2. % HHg-Sla &1 3feHpa|

3. % YBRI-Hoa H TU Ty |

4. % IfEHTA § AW BT SIS |

Question Number : 97 Question Id : 1034351311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST T S IR, I 991 e g g
Options :

1. % HHN

2. ¥ 3HJHd

3. % HARYhdl

4. % IgdAAdl

Question Number : 98 Question Id : 1034351312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

S eI uuE e e

Options :

1. ¢ OIS &l FrETioish HEd] &1 ure H31 3mfgu|

2. % I &I fat o | &1 sfem a1 foedt oft IR & Hacdl &1 B alidd gl g dTeul
3. % O bl JrTfores (H] &1 Urer el H-1 g U

4. % T Y U U T SR & a4 &1 Tt W =nfeul

Question Number : 99 Question Id : 1034351313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEfRad & Q 1H-91 Isg “Iga” &1 Uaid! T8 82
Options :

1. % Idfd

2. % 3H

3. ¢ 3{qyT

4. % 3fifquig

Question Number : 100 Question Id : 1034351314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suad T & SR, JfeHhd & A U= el o, |ifs
Options :

1. % foreit oft 9 BT -4 ST 157 o

2. % JIIH TS B UaTd gfd g urat o |

3. % gg SHTall | g ATl

4. I9 BT T QT g 1 YR =gt gai o1l

Question Id : 1034351309 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)



=TT TRIT1 FT AT ga® ST B URAT B IR Glord-

AMG-STta & T H SR B g GhedHT ol Ut 3R AT 3Tl 1 Hifd T9-98 TR A1 IS4 &1 ¥ | HTHa SHTe § g o, “forqent
AT IUDT U TTet HaTad I oiia- R guia: I gt oY, safag uR fdt ot fFam &1 seq a1 fodt YR & Saa &1 g el o,
fhd a1 Wad 3R PR Bid gU ) ITHa o= 16T U1 SRl eavra B4 2, e Rl-dded § s grar T 3R g &t HHt 39 Ward!
ot fR-efR ITDT 3o & STaxgsmdrsii &t g & forg TaTeT 3iR ITT BT 3G d 3R [AHT g3 3= Ie=0 &1 Rif Td saxgamdrsi &t
gfcl o forg Ara 7 Sida: T Fawi &1 fFHiur far| 390 § $3 FoHl & UTe SRaM &1 SMUER Iod &I 3R $B BT HUGR A 61 ¢
fear o | Safad o IgaE fad o Were 814 ardl 3 fgHi &1 UTe & SR Hedrdl & | IHd Ty S8 fR1efd giar & | Jars A

TR T 30 SfIHal I B SR & 37 g &1 R, fawRid foran $ik gerafeyd faar gl

Sub questions

Question Number : 96 Question Id : 1034351310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST Tl T S Wife e o § P 2
Options :

1. ¢ SR B HeheuHT|

2. % HEA-Sia BT b |

3. % SfYBRI-DHoodl H ULl Fgy |

4. % 3IfShTd § T & aRIDHd |

Question Number : 97 Question Id : 1034351311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUYH T B TR, e 7T e g g |
Options :

1. % HHN

2.9 3{JHd

3. % 3[dRYhdl

4. % IgdAdI

Question Number : 98 Question Id : 1034351312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

S s uuE s fe

Options :

1. ¢ O &1 FrATSID gl &1 Urei 1 31fg T

2. % A I fpdt ot fFom &1 deq an foadt oft UhR & Saadl &1 Bis g1 el g1 a1t |
3. % O Dl JrHTfores H] &1 grer el H-1 alg T

4. % T B U U T SR & a4 &1 Tt W =nfeul

Question Number : 99 Question Id : 1034351313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & @ 1H-91 Woq “Iga” &1 waigar Tg g2
Options :

1. ® Idfd

2. % JH

3. ¢ 3{qd

4. % 3fifquig

Question Number : 100 Question Id : 1034351314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUed TR & SR, SMfeHTd & AFd U= g T, Jifs
Options :

1. % fodt 1Y 9% BT O-cH S a1 Tl

2. % JTTRIH TS B UaTd gfd g Ut |

3. % 9g STl 9 g1 Tl

4. ¥ I HIA A FrATRIS HaH! &1 FuRor T8l g Uil
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Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 1034351315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following external agencies can exert force on a body even from a distance?
Options :

1. ¥ Magnetic forces

2. * Hands

3. % Wind

4. % Stream



Question Number : 101 Question Id : 1034351315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ o ot e g3t ¥ 4 fosdt five R 5@ & wear g2

Options :

Question Number : 102 Question Id : 1034351316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bullet of mass 0.08 kg moving with a speed of 50 ms™! enters a heavy wooden block and is stopped after a distance of 40 cm. What is the
average resistive force exerted by the block on the bullet?

Options :
1. % 220N
2. % 250N
3. * 300N
4. % 350N

Question Number : 102 Question Id : 1034351316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

50 ms™! T J TH 0.08kg T BT B et bl P HRI Teb H UPR 40 cm g3 TADR b Sl § | Teob GRT e IR T arell
3 a1 90 T 82

Options :
1. % 220N
2. % 250N
3. #* 300N
4. % 350N



Question Number : 103 Question Id : 1034351317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to Newton’s third law of motion, mark the correct option.

1. Action and reaction act on different bodies and so they can be cancelled out.
2. The internal action and reaction forces between different parts of a body do, however, sum to zero.

Options :

1. ® 1 only

2. % 2 only

3. % Both 1 and 2
4. % Neither 1 nor 2

Question Number : 103 Question Id : 1034351317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e o Tfd & dRR 90 & SaR 98! fadbed &1 9a- B |

1. foran T wfdforan o < e fUus! R SR HRd § | 3ic: 3 9 Udh Galk &l R &R 9dhd g |
2 U, fopdt fus & siiafves foram qur ufafshar st &1 9 s/axg & I gaT e

Options :

1. % &Had 1

2. ¢ Had 2

3. % g1 3R 2

4. % A1 3RAE 2

Question Number : 104 Question Id : 1034351318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the net external force is zero, a body at rest continues to remain at rest and a body in motion continues to move with a uniform velocity. This
property of the body is called .

Options :



1. ¥ Inertia
2. % Acceleration
3. #* Mobility

4. % Resistance

Question Number : 104 Question Id : 1034351318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I G 1T 9 YA & o FaRTH a1 § g X7 fUve farmmaRa & g1 g § iR faxfia fivs FRaR thaam a1 ¥ mifasia gar o | avd
& 3 OB PEd &

Options :

. ¥ Sfscd

2. % o0

3. % TrfcrRiterd

4. % gfoRiY

Question Number : 105 Question Id : 1034351319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following equations is the correct representation of momentum?
[mass m and velocity v and momentum is denoted by p of the body]

Options :

l. ®* p=m/v
2. % p=v/m
3.9 p=mv

4. % p=m-v

Question Number : 105 Question Id : 1034351319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfRad & ¥ D19 A1 GHIG U1 HaT &1 Ul Fe00l 52
[ & SoadM m 3IR A7 v 3R AT B p GRI R0 fopam T 7]



Options :

. # p=m/v
2. % p=v/m
3. p=mv

4. % p=m-v

Question Number : 106 Question Id : 1034351320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following has the correct value of 1 unit of Work/Energy in J?
Options :

1. % lerg=10°]

2. ¥ 1 electron volt (eV) = 1.6 x 10717 J

3. % 1 calorie (cal) = 1.186 ]

4. % 1 kilowatt hour (kWh) =3.6 x 100 J

Question Number : 106 Question Id : 1034351320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 3 forget 1 § Sri/Sw @) | 7S ST I8l 711 82
Options :

1. % 13[T=107

2. ¥ | SARM AT (eV) = 1.6 x 10719 ]

3. % | HART (cal) = 1.186

4. % | fobdiare-der (kWh) =3.6 x 100J

Question Number : 107 Question Id : 1034351321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a ballistics demonstration a police officer fires a bullet of mass 60.0 g with speed 200 ms™! on soft plywood of thickness 4.00 cm. The bullet
emerges with only 8 percent of its initial kinetic energy. What is the emergent speed of the bullet?



Options :

1. ® 63.2 ms’!
2. % 50.89 ms™!
3. % 119 ms™!
4. 56.56 ms™!

Question Number : 107 Question Id : 1034351321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for<it TIaf® UG & U o SIYBRT 60.0 g SSTH Bt MWl DI 4.00 cm HICT ARH IRAGR Aol (W848G) TR 200 ms™! & A1 1
;l;{ HAT 8 | R AP ST DI e o YT et B1 TSt Soll URINEG Sl i 8 WA=Id X Ol 81 Adhal ¥ Haberd THg Tl &t ard aan
?

Options :

I. % 632 ms!
2. % 50.89 ms™!
3. % 119 ms’!
4. ¥ 56.56 ms™!

Question Number : 108 Question Id : 1034351322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the displacement Ax is small, we can take the force F(x) as approximately constant and the work done is then:
Options :

1. ¥ AW = F(x). Ax

2. % AW =F(x)/ Ax

3. % F(x) = W. Ax

4. % AW = F(x+Ax)

Question Number : 108 Question Id : 1034351322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gfe, faRITTT Ax BT 8, T 89 90 F(x) B TTHT FRR AT 9&hd g 3R dd fear & &
Options :

1. ¥ AW = F(x). Ax

2. % AW =F(x)/ Ax

3. % F(x)=W. Ax

4. ¥ AW = F(x+Ax)

Question Number : 109 Question Id : 1034351323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When light meets a surface separating 2 transparent media,

Choose the correct code:
1. Reflection occurs
2. Refraction occurs

Options :

1. % 1 only

2. % 2 only

3.4 Both 1 and 2
4. ¥ Neither 1 nor 2

Question Number : 109 Question Id : 1034351323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OId UhT 2 TR AT T 3T B aTel Jag o fHradn 8,

Tl ple -
| WA gl g
2. 3Uda- gidT g

Options :

1. % $ad |

2. % Had 2

3. gl 1 3R 2




4. % A1 ARG 2

Question Number : 110 Question Id : 1034351324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/can be treated as real object?

Choose the correct code.
1. the point object from where the incident rays diverge
2. the point where the incident rays would meet if there were no mirror.

Options :

1. ¥ 1 only

2. % 2 only

3. * Both 1 and 2
4. % Neither 1 nor 2

Question Number : 110 Question Id : 1034351324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefed & 3 f5a arafas S a1 <1 9odr g/82

T D18 g |

1. 98 fofg foia 58T ¥ smufad fp=of famre ot §
2. 98 foig S8l gUur 9 g WR 3Hrufad fb=ol firerd|
Options :

1. ¥ $ad |

2. % PHad 2

3. % gl 1 3R 2

4. % A1 3RAE 2

Question Number : 111 Question Id : 1034351325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



For air the refractive index of light is
Options :

1. % 1

2.%0

3. % very close to 1

4, % 2

Question Number : 111 Question Id : 1034351325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

arg & foTT UehT=T &1 108 SUdd-id gl
Options :

1. %1

2.%0

3.¥ 1 b Hig

4, % 2

Question Number : 112 Question Id : 1034351326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the basic principle of a branch of physics called fibre optics?
Options :

1. ¥ Total internal reflection

2. % Lateral magnification

3. # Angle of minimum deviation

4. ® Refraction through thin lenses

Question Number : 112 Question Id : 1034351326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UHTRID! g (BI3ER JHTPRT) S ! &1 Ueh URaT &1 Jd Rigid Fafiiad § J S arg?

Options :




1. ¢ quf 31dRe WRraa—

2. % UTdfg ygda

3. % gAY faaa-PIu

4. % gdd ol & HIHH ¥ 3Tdc

Question Number : 113 Question Id : 1034351327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is/are true?

1. the focal length of a converging lens is positive
2. the power of a converging lens is negative
3. the power of a converging lens is positive

Options :

1. % 1and 2 only
2. % 1 and 3 only
3. % 3only

4. % 2 only

Question Number : 113 Question Id : 1034351327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o /A $UYT 9 8/8?

1. IR O BT BIeh ) ¢S gl 8
2. TR o P &A1 BUNTHS Bidl &
3. TR oI BT &FaT YT B §

Options :

1. % Had 1 3R 2
2. Had 1 3R 3
3. % %dd 3

4. % PHad 2




Question Number : 114 Question Id
Orientation : Vertical

: 1034351328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
An average human being can hear sound of frequency upto:

Options :

1. # 30 kHz
2. % 20 kHz
3. % 35kHz
4, % 40 kHz

Question Number : 114 Question Id
Orientation : Vertical

: 1034351328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

TS 3d 99 @afy o Mgy 9 06 I Jopar 8

Options :

1. % 30 kHz
2. % 20 kHz
3. % 35kHz
4. % 40 kHz

Question Number : 115 Question Id
Orientation : Vertical

: 1034351329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
The waves with the frequency above the audible range of human being are called

Options :

1. ¥ Ultrasonic waves
2. % Infrasonic waves
3. # Supersonic waves

4. % Hypersonic waves

Question Number : 115 Question Id

: 1034351329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

AT &1 oo FAT  3ifere Sgfr arelt a3l o HET A |
Options :

1. ¢ TRIYS T

2. % 3y dAT

3. % RIS

4. % ffqeafie a3

Question Number : 116 Question Id : 1034351330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sound waves are:

1. Longitudinal waves
2. Transverse waves

Options :

1. ¥ 1 only

2. % 2 only

3. % Both 1 and 2
4. ¥ Neither 1 nor 2

Question Number : 116 Question Id : 1034351330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1. e at
2. IR

Options :

1. ¥ &Had |
2. % Had 2



3. % gHf 1 3R 2
4. % Fd11 3R 2

Question Number : 117 Question Id : 1034351331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The space between the lens and retina of an eye is filled with
Options :

1. % Vitreous humour

2. # (Ciliary muscle

3. % Aqueous humour

4. ¥ Suspensory ligament

Question Number : 117 Question Id : 1034351331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP S G IMILTMFPTTH A J RTS8l
Options :

1. ¥ HIYHH gd (Vitreous humour)

2. % gemt Ukl (Ciliary muscle)

3. % 931G (Aqueous humour)

4. % GITgHE Y - §Y (Suspensory ligament)

Question Number : 118 Question Id : 1034351332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is/are called fluid/s.

1. Liquid

2. Gas
Options :

1. % Only 1



2. % Only2
3.4 Both 1 and 2
4. % Neither 1 nor 2

Question Number : 118 Question Id : 1034351332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%1 R Bl ST 8/8 |

l.%d
2. T

Options :

1. % $ad 1|

2. % Had 2

3. Gl 1 3R 2

4. % A1 3RAE 2

Question Number : 119 Question Id : 1034351333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pascal’s Law is concerned with -

Options :

1. # Forces between two surfaces in contact
2. # Tension in string

3. % Intermolecular forces of gases

4. ¥ Pressure in a liquid

Question Number : 119 Question Id : 1034351333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR d BT HaH Tefid 8-

Options :



|. % YU HIgA dId &l qagl b s 9 9
2. % GRATAE Y

3. % TG} & 3fR-3MMUMAP g

4./ THGdHGEEH

Question Number : 120 Question Id : 1034351334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are true?

1. Archimedes Principle is not an independent principle.

2. Archimedes Principle is an independent principle.

3. Archimedes Principle can be deduced from Newton’s Law of Motion.
Choose the correct code—

Options :

1. ¥ Only 1 and 3
2. % Only 2

3. % Only2and3
4. % Only 1

Question Number : 120 Question Id : 1034351334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & T o I/ $UT I 8/8°

1. MBS Rigid e Wda Rigid T8t g

2. SIS Rigid te Wdd Rigid 3|

3. MBS & Rigid &1 e & 7ifd & Fom | e ST aHwar g1
T BIS -

Options :

1. ¥ Had 1 3R 3

2. % Had 2

3. % Had 2 3R 3




Discipline2
Group Number : 7
Group Id : 10343568
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
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Discipline2
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Question Number : 121 Question Id : 1034351335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Torricelli is associated with the invention of which of the following devices?



Options :

1. # Thermometer
2. # Manometer
3. % Barometer

4. # Spring balance

Question Number : 121 Question Id : 1034351335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AN Fafafaa & T frg Sumu & enfaseR @ Tefid g2
Options :

1. % YATHCR

2. % AR

3. ¥ SRR

4. % HHMIGR TR

Question Number : 122 Question Id : 1034351336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the wavelength of a wave that is produced in air and travels at a speed of 300 ms™! at the frequency of 60,000 Hz?
Options :

1. ¥ 0.50 cm

2. % 040 cm

3. % 0.65cm

4. % 0.60 cm

Question Number : 122 Question Id : 1034351336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP a1 &1 a1 & o gt 7 gaT H Iad Bicll 8 31 60,000 ST B SMGRI TR 300 ms™! Pt 71 T TR it 82

Options :



1. ¥ 0.50 cm
2. % 040 cm
3. % 0.65cm
4. % 0.60 cm

Question Number : 123 Question Id : 1034351337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Calculate the work done in moving a charge of 5C across two points having a potential difference of 25V.
Options :

1. % 5]

2. % 1251

3.¥125]

4. % 501

Question Number : 123 Question Id : 1034351337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5C AR PI 25 V fquarRar &l fargsil & Ae T forg ¥ gk fag a& o 9 & o fvw 1T i ot o1 SifSie|
Options :

1. % 5]

2. % 1251

3.¥ 1251

4. % 501

Question Number : 124 Question Id : 1034351338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the equivalent resistance of the following combination of resistors—



Options :
1. % 12Q
2.%6Q
3.% 40
4. 30

Question Number : 124 Question Id : 1034351338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu 7t ufeRiyes Tare & fore ufvomt ufeRiy ot 31 S|

10 A

10 31
20

Options :
1. % 12Q
2.%6Q
3.% 40
4.¥3Q

Question Number : 125 Question Id : 1034351339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the reason for an iron core increasing the magnetic field of a coil of wire?



1. The iron atoms line up to add the magnetic field.
2. Iron is, among other things, attracted to a magnetic field.
Choose the correct code.

Options :

1.+ Only 1

2. % Only2

3. #* Both 1 and 2
4. % Neither 1 nor 2

Question Number : 125 Question Id : 1034351339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafed & @ ®F-91 HRUI§ foF IR B FUSH & HR T 99 Tig &1 38 IR BT &7 §¢ STl 82

1. 9Ig P 3MU] T 2 N BlepR Praab g & B 9gT1 & B
2. TIg 3 ol & IR TP &7 T D gial g |
Tl ple |

Options :

1. ¢ $Had |

2. % $Had 2

3. % M1 3R 2

4. % 1 3RAE 2

Question Number : 126 Question Id : 1034351340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following type of coal is a shade of dull black with very little visible plant matter?
Options :

1. # Peat

2. % Lignite

3. % Sub-bituminous

4. ¥ Anthracite



Question Number : 126 Question Id : 1034351340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{3 THPR & PO eob PBIal T ! WA gidl § 3R o 5gd 1 =29 urey uerd grar g2
Options :

1. % dic

2. % fermge

3. ¥ JU fagii g

4. % TRITEC

Question Number : 127 Question Id : 1034351341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a limitation of using hydroelectric power?

Options :

1. ® Dams can be very expensive to build.

2. % There needs to be a sufficient, and continuously strong water current, or water head, to produce energy.
3. # The hydroelectric power plants cannot be sited at a place of our choice.

4. ¥ Electricity can’t be generated constantly.

Question Number : 127 Question Id : 1034351341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaied & § ®F Safdegd fad & START &1 ST g 82

Options :

1. % gl gieq & YD AT A 8

2. % ol & IdTe & ot Uaid gRumA g Jdd U 9 U S1d URT 1 SUAKIT AT ¢ |
3. % 3d faggd Soll Y1 1 §H 310 SSTIUR &R el IR o] Ol dhd ¢ |

4.+ ¥ faggd &1 Idd SdTe e fordT ot Tehal 5|




Question Number : 128 Question Id : 1034351342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following elements is present in the highest amount (percent by mass) in the human body?
Options :

1. # Calcium

2. % Hydrogen

3. % Magnesium

4. % Tron

Question Number : 128 Question Id : 1034351342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o @ &9 91 da@ AHa TRR T T 34 7 § (Ufa<d goawm) AiNg 82
Options :

1. % PfcRrgq
2. ¢ gIZSIoHA
3. % TURrW
4. % @l

Question Number : 129 Question Id : 1034351343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How is an aerosol formed?

Options :

1. # When liquid gets trapped in solid

2. % When mixture of tiny droplets of one liquid is suspended in another

3. % When small droplets of liquid or particles of solid are dispersed in a gas
4. % When small bubbles of gas are trapped in liquid

Question Number : 129 Question Id : 1034351343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

WA HY §7d1 82

Options :

1. % 9 RA 319 H Gy J1a1 g

2. % T Uh IR B BIC] §al T 10 gaR R H (Hdifad g1 oial §
3. ¢ Od R B BICl e 1 319 & HUT, T H T oI §

4. % T NG F BN JAGA dRA H Y 5I1d &

Question Number : 130 Question Id : 1034351344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following parameters will be of highest importance if we want to separate two miscible liquids by distillation process?
Options :

1. ¥ Boiling Point

2. ® Freezing Point

3. # Solubility in water

4. ® Viscosity

Question Number : 130 Question Id : 1034351344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe &1 e Ufshar gRT &l fsufia gdl &1 Sfel 1 a1gd § ol Fafifad # 9 o 91 IRrHiey e 31 Hgeayul g
Options :

1. ¥ SYAH

2. % fgwiss fdg

3. % O H o=t

4. % fufeurge

Question Number : 131 Question Id : 1034351345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following methods is most suitable for separation of salt and camphor?
Options :

1. # Centrifugation

2. % Evaporation

3. ¥ Sublimation

4. ® Chromatography

Question Number : 131 Question Id : 1034351345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3R FR P A B o forg Fgfeied & ot faf g8 Suged 82
Options :

1. % 3fUhigehrul

2. ® qUEiepRl

3. ¥ J@YI

4. % PHIHCUTH!

Question Number : 132 Question Id : 1034351346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a property of a mixture and not a compound?

Options :

1. # It is formed when elements react.

2. % Tt has totally different properties as compared to the constituent substances.
3. % It has a variable composition.

4. ® The constituents can be separated only by chemical or electrochemical procedures.

Question Number : 132 Question Id : 1034351346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad & I S s &1 701 € 7 fos At &1

Options :



1. % U8 T4 9901 § OI9 dcd SHHThaT I 5 |

2. % gTh Uardl &t ga & 398 I RE I ST U g |

3. ¢ TP YU URAA-1d g |

4. % gDl D] Had IS I1 faggd IS Ulsharsii gRI1 & e ford ST gHhar 7 |

Question Number : 133 Question Id : 1034351347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

We can now produce magnified image of surface of elements showing atoms by using a technique called STM. What is the full-form of STM?
Options :

1. #® Super Telemetric Microscopy

2. ¥ Scanning Tunnelling Microscopy

3. # Stimulated Telescopic Microscopy

4. ® Segmented Telemetric Magnification

Question Number : 133 Question Id : 1034351347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH.ETH. (STM) TS MY T BT TN dXh IRATIST B Bid BT dcdl 1 Fds IR ol ol Jabal ¢ | TH.EL.TH. HT g0l =0 1 82
Options :

1. % R caAicd ArZhRapIdl

2. ¥ BT SARHT A RD YT

3. % IS CARDIUD AZh IR Ul

4. % YHCE CAfCH THiBIhRH

Question Number : 134 Question Id : 1034351348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Chlorine is obtained as a mixture of two isotopes 35 Cly7 and 37C117 . These isotopes are present in the ratio of 4 : 1. What will be the average
atomic mass of chlorine?
Options :



1. ®¥ 352u
2.¥354u
3. % 36.1u
4. % 357u

Question Number : 134 Question Id : 1034351348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& FERTHDT 35¢1; 3R 37C1,; & Y1 ¥ FAR UIed g3 & | T8 TR 4 ¢ 1 & 3JUTd § HING & | 3F TR BT ST URA]
SoIHT T BT

Options :

1. % 352u

2.9 3540

3. % 36.1u

4. % 357u

Question Number : 135 Question Id : 1034351349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following was not an observation in Rutherford’s a-Ray scattering experiment?

1. Most of the a-particles were deflected by small angles.
2. A few a-particles were deflected by large angles.
Choose the correct code.

Options :

1.¢ Only 1

2. % Only 2

3. % Both 1 and 2
4. # Neither 1 nor 2

Question Number : 135 Question Id : 1034351349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ ST TEIHIS & o-fHI0N & Ueb U &1 TN F Sadih Tat U2

1. 3B AR o-HUN 3T Y F AT fI&fd 8 oa 8
2. 6 HH o-HUT 3P P01 R [38fd g1 9 |
el pls A |

Options :

1. ¥ $ad |

2. % Had 2

3. % g1 3R 2

4. % A1 3RAE 2

Question Number : 136 Question Id : 1034351350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the maximum capacity of electron accommodation of the N-shell in an atom?
Options :

1. # 30

2. % 18

3.9 32

4. % 28

Question Number : 136 Question Id : 1034351350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fepf} TRATY] F N-BIR & G THRIN B SfIhdd emaT fha-t gidl 82
Options :

1. * 30

2. % 18

3.9 32

4, % 28



Question Number : 137 Question Id : 1034351351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following atoms don’t exhibit the valency of 2?
Options :

1. ® Be

2.% 0

3. % Mg

4. ¥ C

Question Number : 137 Question Id : 1034351351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ ©1F 91 IR 2 B YT UefRid T8l HRdT 82
Options :

1. ®* Be

2.% 0

3. % Mg

4. ¥ C

Question Number : 138 Question Id : 1034351352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Newlands’ law of Octaves was not applicable to elements of atomic masses higher than-
Options :

1. % 35u

2.¥ 40u

3. % 50u

4. % 55u

Question Number : 138 Question Id : 1034351352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

oIS BT 3{¥E &1 FH 9§ e i TRAT] Soqa ardl Il IR ARL-Te! gIdl UT?
Options :

1. % 35u

2.9 40u

3. % 50u

4. % 55u

Question Number : 139 Question Id : 1034351353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mendeleev in his Periodic Table had predicted about an element called Eka-Boron. What is it called now?
Options :

1. # Germanium

2. # Gallium

3. % Scandium

4. ¥ Caesium

Question Number : 139 Question Id : 1034351353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Heda A Ut 3MTad RO § THI-IRM AMHS dd & IR § Hiawramht &1 At | 39 3ia o1 FHgl offdl 52
Options :

1. % SEfAgg

2. % TiferaH

3. ¥ WhiegH

4. % giforaw

Question Number : 140 Question Id : 1034351354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following will have the electronic configuration of 2, 8, 18, 32, 18, 8, 1?



Options :
1. ¥ Fr
2. % Cs
3. * Rb
4. % 7r

Question Number : 140 Question Id : 1034351354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad o 9§ forae sadgi=e fa=mg 2, 8, 18, 32, 18, 8, 1 NI

Options :
1. ¥ Fr
2. % Cs
3. ®* Rb
4. & Zr
Discipline3
Group Number : 8
Group Id : 10343569
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline3

Section Id : 10343569



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 10343583
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 1034351355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many strong acids are there?
Options :

1. %5

2.9 7

3.9

4. % 12

Question Number : 141 Question Id : 1034351355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS 3% forae 62

Options :

1. %5

2.9 7

3.%9

4. % 12

Question Number : 142 Question Id : 1034351356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Match the following indicators with the colour that they will exhibit in basic solution—

: Colour in basic
Indicator .
medium

Litmus A Yellow
Phenclphthalein B. Blue
Methvl Orange C. Pink

bl i

Choose the correct code -
Options :

1. # 1-A, 2-B, 3-C

2. % 1-B, 2-A, 3-C

3. % 1-C, 2-B, 3-A

4. ¥ 1-B, 2-C, 3-A

Question Number : 142 Question Id : 1034351356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied Ee! Gfeder) o 39 I GAfTd o off 9 &Ry [redt & uefia s

qa+ el AeR A O
1. felems A, der
2. Tharreela B. Adr
3. fAemse 3 C. erdr
e PIS T

Options :
1. # 1-A, 2-B, 3-C
2. % 1-B, 2-A, 3-C



3. % 1-C,2-B, 3-A
4. ¥ 1-B, 2-C, 3-A

Question Number : 143 Question Id : 1034351357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of a weak base?
Options :

1. #® Barium hydroxide

2. % Ammonium hydroxide

3. # Caesium hydroxide

4. ® Rubidium hydroxide

Question Number : 143 Question Id : 1034351357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 & QD gad &R BT IGEI 87
Options :

1. % IR gISSIRISS

2. ¢ AT BRSNS S

3. % Hifory greginss

4. % EISTH eRSINES

Question Number : 144 Question Id : 1034351358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a property of ionic compounds?

Options :

1. # They are crystalline solids.

2. # These compounds conduct electricity in their molten state and in aqueous solutions.

3. % These compounds are generally soluble in water but are insoluble in organic solvents such as ether, alcohol, carbon tetrachloride etc.



4. ¥ The melting points and boiling points of these compounds are lower than those of covalent compounds.

Question Number : 144 Question Id : 1034351358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifaa # 3 o smafie et &1 70 T8l 82

Options :

1. % dfhedg 3N gl

2. % YO U frach g3 sradr o 3R Sfaid aid H fagyd aradal UefRid #d g

3. % YA 3 IR R U & ga=itd 81d § Afd BIef-d [Aarid! o SUR, 3fehigd, BTa celdaRIss 3dlfe H SYga=id gid g
4.« S QMNP & TS AR HYUAD Teuad AMTdH] B ga-1 8 HH 8Id o

Question Number : 145 Question Id : 1034351359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of combination reaction?
Options :

|« 2Mg (s) + 02 (g) — 2MgO (3)

7 % CaCO;(s) —— Ca0(s) + CO:(g)
3 % Fe(s) + CuS04(aq) — FeS0, (aq) + Cu (s)

4 % Fey0s(s) + 2Al (s) — ALO; (s) + 2Fe (s)

Question Number : 145 Question Id : 1034351359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol § 3 e garer siffsbar g2

Options :



1« 2Mg (s) + Oz (g) — 2MgO (s)
7 % CaCo0;(s) —— Ca0(s) + CO:(g)
3 % Fe(s) + Cu504(ag) — FeS0, (ag) + Cu (s)

4 % Fes0;5(s) + 2Al (s) — ALO;s (s) + 2Fe (s)

Question Number : 146 Question Id : 1034351360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the reaction
Cu (s) + 1, (s) — Cul, (s)

Which of the following statements is correct?

1. In the reaction a copper atom loses two electrons to become a cupric ion.
2. In the reaction iodine atom gains two electrons to become an iodide ion.
Choose the correct code-

Options :

1.¢ Only 1

2. % Only 2

3. % Both 1 and 2
4. # Neither 1 nor 2

Question Number : 146 Question Id : 1034351360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFuferRaa sifyforar iR faTR &3 -

Cu (s) + 1, (s) — Cul, (s)

Fofifad Syl § 9 319 J81 82



1. Tfaferan § HIIR 6T T URHATY] &I Saae -1 AT Udh oS ST &+ SIa g |

2. vfaforar & SIS URAT U STAISISS 3T §-1 & folu &) Saaei-i & U a5 |
TR BIS -

Options :

1. ¢ $Had |

2. % $Hdd 2

3. % Gl 1 3R 2

4. % 91 ARAE 2

Question Number : 147 Question Id : 1034351361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is most ductile metal?
Options :

1. ¥ Gold

2. ® Silver

3. % Mercury

4. % Cadmium

Question Number : 147 Question Id : 1034351361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed & 9 &9 Iad offties a1 U1g 32
Options :

1. ¢ M

2. % Tid]

3. dY

4. % Heftmm

Question Number : 148 Question Id : 1034351362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Though metals have high melting points but which of the following metals have very low melting point?
Options :

1. ¥ Gallium

2. % Molybdenum

3. # Tungsten

4. ¥ Rhenium

Question Number : 148 Question Id : 1034351362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Y1t &1 e 3o Bidl § Al Hgfead § ¥ fhy U1 &1 7Ta-id §gd HH gidl 82
Options :

1. ¢ Tfergm

2. % HifclesH

3, % AR

4. % Y

Question Number : 149 Question Id : 1034351363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the half-life of 14C?

Options :

1. # 5120 years

2. % 5500 years

3. % 5730 years

4. % 6100 years

Question Number : 149 Question Id : 1034351363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



¢ o7 S1efaTg FT 82
Options :

1. # 5120 9T

2. % 5500 4T

3. % 5730 9Td

4. % 6100 4TI

Question Number : 150 Question Id : 1034351364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the density of diamond?
Options :

1.¥ 351 gem™

2. % 215gcem™

3. % 416 gcm>

4. % 378 gcm™

Question Number : 150 Question Id : 1034351364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ER &1 T o1 gra &2

Options :

1.¥ 351 gem™

2. % 215¢gcm>

3. % 416 gem™

4. % 378 gem™

Question Number : 151 Question Id : 1034351365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a property of alkanes?



Options :

1 ® Thev are colourless.

> #% They are odourless.
3« They have high reactivity.

4 % The general formula of alkanes is CoHzp12

Question Number : 151 Question Id : 1034351365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad § 9S-I Teh= &1 01 a1 82

Options :

| % dUREAG]

) % AIEREEITGI
\ o S arelera e 21

4 % Tochodl & HIHT TA CrHyp B

Question Number : 152 Question Id : 1034351366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following reaction —

CeH1206 (aq) —— 2CH;CH,0H (aq) + 2 CO; (g)

Which of the followingis the catalvst in this reaction?
Options :



1. # HCI
2. # Low pressure
3. ¥ Yeast

4. ¥ Sub-zero temperature

Question Number : 152 Question Id : 1034351366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faFafaf@d gfafsarm faam sy -

CsH,:05 (aqg) —— 2CH;CH,OH (ag) + 2 CO: (g)
=0 gfdfhar # frff@d A Sl 3cE &2
Options :

1. % HCI

2. % hHHHId

3. v GHR

4. % JU-R[Y dUHTT

Question Number : 153 Question Id : 1034351367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a main raw-material for the manufacture of cement?
Options :

1. % Limestone

2. % Gypsum

3. % Clay

4. ¥ Calcium Oxychloride

Question Number : 153 Question Id : 1034351367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & @ & Sife & Fufur & forw ger & 11d 81 g2

Options :




1. % FATURR
2. % foogy

3. % foeh

4. ¢ SRy fFfidarss

Question Number : 154 Question Id : 1034351368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the chemical formula of polyethylene terephthalate or PET?
Options :

| # (CsHuOg)n

5> « (CicHsOe)n
3 % (CsHsOg)n

4 % (CuHsO2)n

Question Number : 154 Question Id : 1034351368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TreZUTS i Sudde a1 Uisdt &1 Imafe I Fg § A o a1 g?
Options :

| % (CsHuOg)n

5>  (CiHsOe)n

3 % (CsHsOg)n



4 % (CuHsO2)n

Question Number : 155 Question Id : 1034351369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is made by reacting phenol and formaldehyde?
Options :

1. # Polythene

2. ¥ Bakelite

3. ¥ PTFE

4. # Nylon 6

Question Number : 155 Question Id : 1034351369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad 5 3 o e SR BiHaegTes 3 ufafshar I aar 82
Options :

1. % glefid=

2. ¥ dHARE

3. % UIdiuths

4. % 9RIAM 6

Question Number : 156 Question Id : 1034351370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the features is NOT correct about Monera?

1. These organisms do not have a defined nucleus or organelles.
2. They are all autotrophic.

Options :
1. % Only 1



2.+ Only 2
3. % Both 1 and 2
4. % Neither 1 nor 2

Question Number : 156 Question Id : 1034351370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR IR H I H faRwer T8t 18l

1. 39 offal § 7 ) T1dd Faw iR FIRBFT 8 B
2. 3 gt WUt B

Options :

1. % &Had |

2. ¥ Had 2

3. % gl 1 3R 2

4. % A1 3RAE 2

Question Number : 157 Question Id : 1034351371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following statements about a kingdom —

1. These are heterotrophic eukaryotic organisms.
2. An example of this kingdom is mushroom.
Which kingdom is being talked about?

Options :

1. # Protista
2. ¥ Fungi
3. % Plantae

4. % Animalia

Question Number : 157 Question Id : 1034351371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

U Sd & R H HHfRad S IR foaR &3 -

1. 3 fawmarsh g iardt sia ||
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Options :

1. % gl
2. % Hddh

3. ® Wict

4. % ufHfern

Question Number : 158 Question Id : 1034351372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an acute disease?
Options :

1. ¥ Malaria

2. # Cancer

3.% TB

4. % Alzheimer’s disease

Question Number : 158 Question Id : 1034351372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofied o ¥ D= did I 82
Options :

1. ¢ HARan

2. % PR

3. % At

4. % SCSITSHR IAT



Question Number : 159 Question Id : 1034351373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pellagra is caused due to the deficiency of-
Options :

1. # Riboflavin

2. ¥ Niacin

3. # Biotin

4. # Cyanocobalamine

Question Number : 159 Question Id : 1034351373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UATIT INT fhaah! it & HROT BIell 672
Options :

1. % SARAfa

2. ¢ IR

3. % gRfifed

4. % FRAFID SIS

Question Number : 160 Question Id : 1034351374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a water-soluble vitamin?
Options :

1. # Vitamin A

2. ¥ Vitamin B

3. # Vitamin K

4. * Vitamin D

Question Number : 160 Question Id : 1034351374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafaRed § 9§ ®F w1 oia & ga-=id faerfem g2

Options :
1. % fqerfam A
2. ¢ fqeTfi B
3. % faerifi K
4. % fqerfd D
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 1034351375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many enzymes are there in the pancreatic juice?
Options :

1. %3

2.¥ 6

3.% 8

4. % 10

Question Number : 161 Question Id : 1034351375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST ¥ o foheH Tosw gl &2
Options :

1. % 3

2.6

3.% 8

4. % 10

Question Number : 162 Question Id : 1034351376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The carbohydrates which are not used immediately in plants are stored in which of the following forms?
Options :

1. ¥ Starch

2. # Protein

3. # Roughage

4. # QGlycogen



Question Number : 162 Question Id : 1034351376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

arelf & g ITANT 7Y fh T oI a1l Prafergse Fafifad & @ fea o 8 Fudia da 8
Options :

1. ¥ H3

2. % UIdH

3. % I

4. % TATZDIOH

Question Number : 163 Question Id : 1034351377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gustatory receptor present in-

Options :

1. * Nose

2. ¥ Tongue

3. * Hand

4. *= Eye

Question Number : 163 Question Id : 1034351377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 el et SurRd -

Options :

1. % 91 Y

2. Sy H

3. % g4 H

4. % @Y

Question Number : 164 Question Id : 1034351378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct?

Options :

1. # 21 pairs of spinal nerves emerge from the spinal cord.
2. ¥ 12 pairs of cranial nerves emerge from the brain.

3. % 42 pairs of spinal nerves emerge from the spinal cord.

4. % 32 pairs of cranial nerves emerge from the brain.

Question Number : 164 Question Id : 1034351378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fraffed s 7 A B I 82

Options :

1. % T3ISLY 21 SIQ WA diA®E Faad g
2. ¢ ORI J 12 S shigd dieTt FHedad §1
3. % TIST q 42 WIS WEAd dFepTE e 81

4. % ARKTSH T 32 NS Hfgd dfFe Redad g

Question Number : 165 Question Id : 1034351379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where are the reflex arcs formed in our body?
Options :

1. ® Brain

2. ¥ Spinal cord

3. # Heart

4. ® Liver

Question Number : 165 Question Id : 1034351379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gAR TRR H el =g el aa &
Options :

1. % ARTSD

2. ¥ TR

3. % gl

4. % Yod

Question Number : 166 Question Id : 1034351380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Leishmania is a parasitic Protozoa which causes disease.
Options :

1. ¥ Kala- Azar

2. # Malaria

3. ¥ Dengue

4. % Small pox

Question Number : 166 Question Id : 1034351380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRIAAT U URid! UICHsiran § il IR BT HRUT ST 5|
Options :

1. ¢ DI

2. % TRl

3. % 8T

4. % IIdH

Question Number : 167 Question Id : 1034351381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is known as malarial parasite?



Options :

1. # Bunyaviridae
2. ¥ Plasmodium
3. % Wuchereria

4. % Taenia

Question Number : 167 Question Id : 1034351381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad o 9 fod gafar tRefidl & =0 & ST STl 87
Options :

1. % IS

2. ¥ WIGHITSTH

3. % FeRfAT

4. % i

Question Number : 168 Question Id : 1034351382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Many invertebrates like Planaria and some vertebrates like lizards replace lost body-parts by
Options :

1. % Fragmentation

2. ¥ Regeneration

3. % Budding

4. % Fission

Question Number : 168 Question Id : 1034351382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BE PP T oY THRAT 3R 5B B! oI fFUbel! TR & WY gU 3477} BT i P A B B

Options :



1. ® e
2. ¥ QoA

3. % gHad
4, % fgdsd

Question Number : 169 Question Id : 1034351383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is known as the father of genetics?
Options :

1. ¥ Gregor Johann Mendel

2. # Isaac Newton

3. % Aristotle

4. % Robert Hooke

Question Number : 169 Question Id : 1034351383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3TIARIBT & S P =T H fbd ST SfTell 22
Options :

1. ¢ WR SIgH Hed

2. % 3P Y

3. % 3]

4. % S §h

Question Number : 170 Question Id : 1034351384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mendel selected how many pairs of contrasting characters of pea plant for his experiment?
Options :

1. %5



2.% 6
3.7
4. % 8

Question Number : 170 Question Id : 1034351384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hed A 3T TR & forg fauia gt & fobd= Sig Tex & Uid o1 9o fohar um
Options :

1. %5

2.% 6

3.¢¥7

4, % 8

Question Number : 171 Question Id : 1034351385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the average diameter of the eyeball of a human?
Options :

1. ®* 23 cm

2. % 23 mm

3.9 23 cm

4. % 23 cm

Question Number : 171 Question Id : 1034351385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS % I 1 S S faa gl 87
Options :

1. % 239l

2. % 2.3 fodl



3. ¢ 23 9
4. % 2390t

Question Number : 172 Question Id : 1034351386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Myopia can be caused due to—

1. excessive curvature of the eye lens
2. elongation of the eyeball
Choose the correct code-

Options :

1. # Only 1 but not 2
2. % Only 2 but not 1
3. % Either 1 or 2

4. # Neither 1 nor 2

Question Number : 172 Question Id : 1034351386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fpe-ed) G & I 1 P HRU -

1. AT O DT aehdl BT TP T
2. 3 AP B ddl 8l STl
el pls -

Options :

1. % &ad | dfdd 2 el

2. % %Had 2 Al 1 Tal

3. gTar 1 a2

4. % A1 3RAE 2

Question Number : 173 Question Id : 1034351387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is present in the Prokaryotic cell?
Options :

1. # Lysosome

2. % Chloroplast

3. ¥ Cytoplasm

4. % Endoplasmic reticulum

Question Number : 173 Question Id : 1034351387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed & @ o1 MeRafes i & Avg 32
Options :

1. % QgAY

2. % FIRIEIRS

3. ¢ DD GH (TS ITIToH)

4. % 3{: Ugodl SIfcrehT (UsTEifoe fepam)

Question Number : 174 Question Id : 1034351388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is found in plant cells only?
Options :

1. ¥ Plastids

2. # Centrosome

3. % Granules

4. % Vacuoles

Question Number : 174 Question Id : 1034351388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o1 Had Urey SIfRrerei & urm ST 82




Options :

1. ¥ WIRTS
2. % HorEH
3. % DHUBIY
4. % RfdqnpTy

Question Number : 175 Question Id : 1034351389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following carry out cellular respiration and are called powerhouse of cell?
Options :

1. ¥ Ribosomes

2. % Mitochondria

3. # Nucleus

4. % Both Ribosomes and Mitochondria

Question Number : 175 Question Id : 1034351389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed § § oF SRS 499 GUd BT § 3R I HIRABGT BT UTRESY HEaTd 82
Options :

1. % I

2. ¢ OIEaIbIzdl

3. % Had

4. % A 3R ARIBISTT Gl

Question Number : 176 Question Id : 1034351390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following parts of living organisms preferentially absorb UV rays, and its high energy breaks the chemical bonds within these
molecules?



Options :

1. % Carbohydrate and chromosomes
2. % DNA and proteins

3. ¥ DNA and chromosomes

4. # Carbohydrates and proteins

Question Number : 176 Question Id : 1034351390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

olal & PHIT 3T W HR WIS (T fHR0T F SaNitd HRd & SR SUB! 3 Sl 3 S & IS e (HHhd Sig)
BT YT R 82

Options :

1. % PHEEEse 3R TURE

2. ¢ ST R TEH

3. % ST 3R URE

4. % PIelgIESC 3R UIEH

Question Number : 177 Question Id : 1034351391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Biomagnification of which of the following can lead to disturbed calcium metabolism and ultimately thinning of eggshells of birds?
Options :

1. # Lead

2. % Mercury

3. DDT

4. # Zinc

Question Number : 177 Question Id : 1034351391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa o § fead S smadH T ufery} & SRy Iurgey § Teac! 81 9l | 3R 3idd: uférl & 3i8 & fvdd uda 8 oird 82

Options :




1. % g
2. % URJ
3. ¢ Slalc!
4. % N

Question Number : 178 Question Id : 1034351392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following statements about an air-pollutant —

1. It is produced by the incomplete combustion of fuels like petrol, natural gas, coal or wood.
2. It is colourless and odourless gas.
Which of the following gases is being talked about?

Options :
1. ¥ CO
2. % CO,
3. ¥ SO,
4. % NO,

Question Number : 178 Question Id : 1034351392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh aig-UguD b §R H FHfeRId oyl IR fdaR -

1. T8 UId, WTep e 19, h1uell U1 dieb gl S S & g0 g8+ & I g g
2. g8 TS SR Tiyg g B
fafifed A A fPa g & TR A 9d B W 32

Options :
1. ¥ CO
2. % CO,
3. ¥ S0,
4. % NO,



Question Number : 179 Question Id : 1034351393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following phenomenon converts nitrogen into oxides of nitrogen?
Options :

1. % Greenhouse effect

2. ¥ Lightning

3. ¥ Snowing

4. % Raining

Question Number : 179 Question Id : 1034351393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifead & ¥ S B g1 TR &l AgeoH & Jifargs # uRafdd st 82
Options :

1. % g3 gHId

2. ¢ foolalt

3. % fguurd

4, % IR

Question Number : 180 Question Id : 1034351394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following crops is a major source of proteins for energy requirement?
Options :

1. ¥ Pigeon pea

2. % Linseed

3. # Maize

4. % Wheat



Question Number : 180 Question Id : 1034351394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 o O Hud Sl ATaaHhdl & T W &1 e 9id 82

Options :

1. ¢ 3R
2. % el
3. % Hddbl

4. % g

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Discipline5
10
10343571
0
0
No
No
0
10
No

Discipline5
10343571
1
Online
Mandatory
10
10
10

Enable Mark as Answered Mark for Review and Clear Response : Yes



Sub-Section Number : 1
Sub-Section Id : 10343585
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 1034351395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For which of the following factors is variety improvement done?

1. Change in maturity duration
2. Wider adaptability
Choose the suitable code.

Options :

1. ® Only 1

2. % Only 2

3.4 Both 1 and 2
4. % Neither 1 nor 2

Question Number : 181 Question Id : 1034351395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9 ford wR® & fore S o foret & guR oo srar g2
1. gRgerdr 3afd o gikad=

2. AU JH IRl
U 1S I |
Options :

1. % $ad 1|

2. % Had 2

3. gl 1 3R 2

4. % A1 3RAE 2

Question Number : 182 Question Id : 1034351396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following nutrients are provided by fertilisers to plants?

1. Nitrogen

2. Phosphorus

3. Potassium

Choose the correct code.

Options :

1. * Only I and 2
2. % Only 2 and 3
3. % Only I and 3
4.4 1,2and 3

Question Number : 182 Question Id : 1034351396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiRad 7 9 &1 91 0ive dad Saxe! gRT Uiyl &1 UeH foram Sirar 82

1. TIgClo

2. BIRBRY

3. grefREH

g D18 I |
Options :

|. % Ppad 1 3R 2
2. % Had 2 3R 3
3. % Had 1 3R 3

4.9 1,2 3R 3

Question Number : 183 Question Id : 1034351397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many different species do Indian cattle belong to?



Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 183 Question Id : 1034351397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR WIF‘I@WQI&FT & fa e TR (species) 8?
Options :

1. =1

2.¥2

3.%3

4. % 4

Question Number : 184 Question Id : 1034351398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many ways are there for obtaining fish?
Options :

1.2

2.% 3

3.% 4

4. % 5

Question Number : 184 Question Id : 1034351398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tl UTed H= Bt oo et g2
Options :

1.¥2




2.%3
3.% 4
4. %5

Question Number : 185 Question Id : 1034351399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which cropping pattern does the farmer get two crops simultaneously at one time or within a short interval of time from the same field?
Options :

1. # Crop rotation

2. ¥ Mixed cropping

3. % Multi cropping

4. # Organic farming

Question Number : 185 Question Id : 1034351399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e o UGl & fHd o) T Iry & T 1Y 1 U g1 T A YIS 99 & 3icRTel § &) had YT giat 82
Options :

1. # Y deh

2. « THf9a Qdt

3. % §g Bhydideg

4. % Sfd® HY

Question Number : 186 Question Id : 1034351400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Carrot grass came to India when India imported -
Options :

1. # Rice from Israel

2. % Rice from USA



3. * Wheat from Israel
4. ¥ Wheat from USA

Question Number : 186 Question Id : 1034351400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA H TToR 9T 9 313 ofd YR = 3{1aTd faha-
Options :

1. % SORTSA ¥ I1dd

2. % Y Iy URHT Y AT

3. % IORIEA A TIE

4. ¢ o Iy ARSI I g

Question Number : 187 Question Id : 1034351401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In India distribution through the ration system was initiated in the
Options :

1. % 1940’s

2. % 1950’s

3. % 1960’s

4. % 1970’s

Question Number : 187 Question Id : 1034351401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA H M & [GaR0r &1 a1 & GXH U g8 |
Options :

1. ¥ 1940’s

2. % 1950’s

3. % 1960’s



4. % 1970’s

Question Number : 188 Question Id : 1034351402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the process of separation of solid from the liquid by allowing the former to settle down and pouring off the latter?
Options :

1. # Filtration

2. ¥ Decantation

3. # Titration

4. # Distillation

Question Number : 188 Question Id : 1034351402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & 9 & O ag ufsar 8§ s 31 yer 9dg IR 1< T4 81 9ild € Td 5d 1 BT 6 3T B fordr §irdl g2
Options :

1. % flheex
2. ¢ AR
3. % 3EHOA
4. % 3T

Question Number : 189 Question Id : 1034351403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the density of water at 4°C?
Options :

1. ¥ 1g/m?

2. % 2 g/m’

3. % 3 g/m’

4. % 4 o/m3



Question Number : 189 Question Id : 1034351403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
4°C R ST &1 ITed {1 BiaT 82
Options :

1. ¢ 1g/m’

2. % 2 g/m’

3. % 3 g/m’

4. % 4 o/m3

Question Number : 190 Question Id : 1034351404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Taj Mabhal is also a victim of pollution which has led to the same to suffer from ‘Marble cancer’. Which of the following is mainly responsible for
this?

Options :

1. # Water pollution
2. % Acid Rain

3. % Smog

4. ¥ Photochemical smog

Question Number : 190 Question Id : 1034351404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dreed U Ugu &1 RIGR § forid HRU1 a8 Hed har' § difed 81 mar g | Fafoied # ¥ o149 59 ol 31 €0 3 SieRr 82
Options :

1. % S UguuT

2. 3 Ui

3. % W

4. % HIIHHHA YY



Teaching Methodology

Group Number : 11

Group Id : 10343572

Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 10

Is this Group for Examiner? : No
Teaching Methodology

Section Id : 10343572

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 10

Number of Questions to be attempted : 10

Section Marks : 10

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 10343586

Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 1034351405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following co-curricular activities is not related to the motor development of students?
Options :



1. # Clay modelling

2. # Kitchen and flower gardening
3. ¥ Newspaper reading

4. # Book binding

Question Number : 191 Question Id : 1034351405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad & 9 o9 & urea-ggmr forar Bt & Mex fawm & Faftrd et 82
Options :

1. % o ATSTeT

2. % YIS INTAF 94T B IRTa

3. ¢ AR Y-l

4. % QXD SIS

Question Number : 192 Question Id : 1034351406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a process by which children learn?

1. Imitation
2. Observation
Choose the correct code.

Options :

1. % Only 1

2. % Only 2

3. # Both 1 and 2
4. ¢ Neither 1 nor 2

Question Number : 192 Question Id : 1034351406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fRufafad 7 T oF I ufssar 781 & e gR1 s= dad 82

1. 3Dl
2. 3[gAIbT

T D18 I |
Options :

1. % $Had |

2. % Had 2

3. % 1 3R23MT S
4. AT 1T

Question Number : 193 Question Id : 1034351407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did E. L. Thorndike develop the theory of trial and error learning?
Options :

1. # 1911

2. % 1912

3. 1913

4, % 1914

Question Number : 193 Question Id : 1034351407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3. Td. YR - U1&o d Ffe it & Rigid o1 fawry g o far um
Options :

1. # 1911

2. % 1912

3. 1913

4. % 1914

Question Number : 194 Question Id : 1034351408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a correct statement regarding CCE?
Options :

1. # It includes only the summative evaluation.

2. # Its full-form is Complete and Continuous Evaluation.

3. ¥ It is used to promote all round development of the students.

4. ® It however, can't determine the process of learning.

Question Number : 194 Question Id : 1034351408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 3. & dey T Fofafed 3 3 &F 9 $uF 9l 82
Options :

1. % 3gH oo paTids FufRo e gl

2. % 3G YUl ©U § HHTT T8 HEg 3 SaegueH |

3. ¢ 3BT IUTNT BT & Faitior [dbTg P ggrar 3+ & fore fHar San g |
4. % gTalp, T8 SAfH o1 ufdsan &1 uiRa 78 w1 goar g

Question Number : 195 Question Id : 1034351409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following chapters of the Right to Education Act, 2009 provide for the duties of appropriate Government, Local authority and
Parents?

Options :
1. ¥ 111
2. % 1V
3. %V
4. % VI

Question Number : 195 Question Id : 1034351409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
?&nmmefr@ﬁuﬂ, 2009 & FETIRIT & T S AT 3 IUFA IRBR, RIFHIT YISO 3R HTA1-Ud1 & Hered| BT UiaeT Hdl
N

Options :
1. ¥ 111
2. % 1V
3.2V
4. % VI

Question Number : 196 Question Id : 1034351410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sections of the Right to Education Act, 2009 provides for the constitution of State Advisory Council?
Options :

1. * 31

2. % 32

3.% 33

4.9 34

Question Number : 196 Question Id : 1034351410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e &1 3B R SiffEH, 2009 B FEfET § 3 D A 4RT IS0 TARHR URYG & T3 BT TG Bl 82
Options :

1. * 31

2. % 32

3. % 33

4. 34

Question Number : 197 Question Id : 1034351411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In which of the following teaching method laws and principles are derived on the basis of experiences, examples and experiments?
Options :

1. ¥ Inductive method

2. % Story-telling method

3. # Heuristic method

4, % Seminar

Question Number : 197 Question Id : 1034351411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 fora Rreor ggfa # srva, I8l 3R TaIT & YR IR S 3R Rigid 9918 971d 82
Options :

1. ¢ STHATHD fafe

2. % WRI-cfef fafy

3. % M fafY

4. % QAR

Question Number : 198 Question Id : 1034351412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a feature of sex?
Options :

1. % It is nature-made.

2. # It is the biological construct.

3. # It is individual based.

4. ¥ It changes from time to time

Question Number : 198 Question Id : 1034351412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafafed & & o foiv ot fa=var =81 82

Options :



1. % TgUHfA-Ued g

2. % gg Wifde WA 8

3. % g faq SMUTRA §

4. ¥ I% GHY-GHY TR 9GdT 36d1 &

Question Number : 199 Question Id : 1034351413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A which stage the child should be engaged in learning principles of science through familiar experiences, working with hands to design simple
technological units and modules (e.g. designing and making a working model of a windmill to lift weights) and continuing to learn more on
environment and health through activities and surveys?

Options :

1. * Primary stage

2. % Upper-primary stage
3. % Secondary stage

4. % Higher-secondary stage

Question Number : 199 Question Id : 1034351413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore aRor & 53 1 uRfera srguat & w3 fagme & Rigidl o) e & Yaw 8H1 T1fte, IRA dob-ia! Sh13al 3R Hisyd & fSoe-
B & foTT BTl T BT HAT (S o I3 & o8 aeden! &1 U SIIRd Aisd &) 3R fafafdal sik Tderon & Hreqd ¥ Wy
3R UgTaRur OR 31fees TG SR} @1 91T 2

Options :

1. % YryfHd =Rl

2. ¢ I-UYHS TROT
3. % TIeffe TRl

4. % IS TRT

Question Number : 200 Question Id : 1034351414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Under which organisation's aided project did NCERT develop an instructional material titled "Science is Doing"?
Options :

1. ¥ WHO

2. ¥ UNICEF

3. ¥ OECD

4. % UNESCO

Question Number : 200 Question Id : 1034351414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS 3RE A fohd TWiTeH o1 YeTadT UTd URASHT & ded "I1ed 3o G371 A Ush Heundd Il fas R ot g2

Options :
1. % S&.T.3.




